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Question 36: “To win a prize is my ambition”. The underlined part of the sentence is a/an-



A. adjective phrase

B. conjunctional phrase
C. adverb phrase

D. noun phrase

Answer: noun phrase

Explanation: Noun Phrase: a word or group of words containing a noun and functioning in a
sentences subject, object, or prepositional object| - TMEF 93 RGBT (A (TR IF T Noun
Phrase 2 noun Si:dfehe AN 1% J1 58% J7 (P19 M@ Subject, object JT Prepositional Object
0T T19%0 3| - T SEf® I To win a prize F1T 93 IEF Subject R T30 [@X|
12, aft Noun Phrase| Source: Oxford Languages

Question 37: Choose the word opposite in meaning to “terse”-

A. concise
B. descriptive
C. expressive
D. detailed

Answer: detailed

Explanation: Terse (adj): Bengali Meaning: Ii@afie, k%3 Meaning: using few words and
often not seeming polite or friendly Synonym: Concise, curt, brusque, abrupt, clipped, blunt,
short, brief Antonym: long-winded, verbose, Rambling, polite - A% TT YN AN concise T
terse-ad synonym| - @eI¥ I expressive A7 ¥ 2 A6 &Tf | af6 Terse-a7 Synonym 3,
f&@ antonym-8 9% F1a9 aft (@1 A7 o1 57T Fa® 11 - 5@¥ AT Descriptive-a7 FN:aT 7
FAAR[EF | FofAT T2 fFF3 7(© MH, TTS T© | R, Ab@e A= [F73e = ReE 473 711 - [F
T I detailed-a7 91 2o YT Fef1 5123w | 9018 93 YHNe (R34 TEy V7@ | e @&
Terse (RTINS, 3F58) IGE HNMG AF0© N 711 A3, terse-17 fF7e T detailed | O,
3% Tod @ detailed| Source: Samsad Dictionary and Oxford Learner’s Dictionaries

Question 38: “Who's that?” In this sentence “that” is a/an-

A. adverb

B. conjunction
C. adjective
D. pronoun

Answer: pronoun



Explanation: That =G determiner, pronoun, conjunction 432 adverb fR(E 37w 2(® NG| -
That =6 adjective @ MW afb (F14 noun-F modify ¥98 | (I: That house is mine. - That =G
adverb 2(® M| (IFF: Do not go that far. 93T far 936 adverb a3x that *=f6 a2 adverb &
SFEHR FA@| O, 94 that adverb - That =6 conjunction fRTE T39%e 2(® M| (INA: The
weather was so bad that | kept indoors. 93T, that relative clause F1E a6 4f6 TH I& FE®|
T SfHfA® {6 demonstrative pronoun RIE T79%® 2@ | - FIF9 demonstrative pronoun (T
&' Subject, direct object, indirect object 93z object of the preposition RTTE TIzw 20© NG| -
9T that *=fb object RET@ T59%@ T@®| - Demonstrative Pronoun: & 31 I/ A, 85, a8,
33BfeT 2ETIW =1 TIAT [T F47 2T, B2 92 TWSENE demonstrative pronoun I | - Pronouns that
point to specific things (IJ¥F (FQ@) : “This is an apple”, “That is my computer” - We can use
this/that to introduce people. (F5f&T @) For example, “Who is that?” “That is Mita.” 1%, SIf3F
Tad pronoun| Source: Oxfordlearnersdictionaries.com and A Passage to the English Language
by S M Zakir Hussain

Question 39: What is the noun form of the word “know”?

A. knowing

B. Known

C. knowledgeable
D. knowledge

Answer: knowledge

Explanation: - Knowing 93z known- 92 % 46 noun RNE T79%e 2@ ME| ASEN -ing (15T FE
93} past participle form-a A noun IAET 2| - f$& knowledge = know-9F IAGEE J6fe® noun
T - Oxford, Cambridge 3T Merriam-Webster - dictionary 95 Entry ST knowledge *=f6
ST Noun RETE S8$® | B, % Ba - Knowledge.

Question 40: “Why, then, 'tis none to you, for there is nothing either good or bad, but
thinking makes it so”. This extract is taken from the drama-

A. King Lear

B. Macbeth

C. As You Like It
D. Hamlet

Answer: Hamlet

Explanation: S@fe TG CTHEEIEE Hamlet 63 (A& (@3 TR Act 2, Scene 2-98
oS | Hamlet 9% NG Rosencrantz-(F ST F& I |



Question 41: “Made weak by time and fate, but strong in will To strive to seek, to find,
and not to yield” is taken from the poem written by-

A. Robert Browning
B. Matthew Arnold

C. Lord Byron

D. Alfred Tennyson

Answer: Alfred Tennyson

Explanation: It may be that the gulfs will wash us down: It may be we shall touch the Happy
Isles, And see the great Achilles, whom we knew. Tho' much is taken, much abides; and tho' We
are not now that strength which in old days Moved earth and heaven, that which we are, we are;
One equal temper of heroic hearts, Made weak by time and fate, but strong in will To strive, to
seek, to find, and not to yield." Ulysses By Alfred Tennyson

Question 42: “Give somebody a piece of your mind” means to-

A. give somebody mental peace

B. say exactly what you feel or think.

C. return or to help somebody return to a normal situation.
D. tell someone that you are very angry with them.

Answer: tell someone that you are very angry with them.
Explanation: Give somebody a piece of your mind (phrase) Meaning: to speak angrily to

someone about something they have done wrong - FIETE N (1 S (FT FT I7| Source:
Cambridge Dictionary

Question 43: “l shall help you provided you obey me”. Here the underlined word is a/an-

A. adverb

B. adjective
C. verb

D. conjunction

Answer: conjunction

Explanation: @& 91 SIf (STE STRIXS F99 0 @i S F¥1 M1 Provided <6 | shall
help you 332 you obey me - 92 9f6 I1F@ & FE®| ©1, aft conjunction|




Question 44: Identify the correct spelling

A. questionaire
B. questionoir
C. questionair
D. questionnaire

Answer: questionnaire

Explanation: Questionnaire (noun) Meaning: a set of printed or written questions with a choice
of answers, devised for the purposes of a survey or statistical study. Bengali Meaning: SoT:e
ST I S 8 5976 TFIET Source: Oxford Languages

Question 45: Which “but” is a preposition?

A. ltis but right to admit our faults.

B. There is no one but likes him.

C. We tried hard, but did not succeed.
D. What can we do but sit and wait?

Answer: What can we do but sit and wait?

Explanation: - 53 SR but, right-F JfEH1R FA®@| - ©F I but 9F6 conjunction F13r aft
9fG Clause~® J& FE®| - 8% ST but pronoun-a7 F18 FA® FTRT 6 no one-F JEHR
FAW| - 3T AT but 9Ff6 preposition | FIFT af6 except I TIzw TA®| AT except REE
9T 2 but 9Ff6 preposition 2@ M| Source: Macmillan Dictionary, Cambridge Dictionary
and Brainly.in

Question 46: Who is not a romantic poet?

A. P. B. Shelley
B. S. T. Coleridge
C. John Keats
D.T. S. Eliot

Answer: T. S. Eliot
Explanation: - 53 o5 ST @H fod $92 (@B I - iFF T. S. Eliot (Sbby-5>b¢ ) TE

modern age (5»05-5»©>)-18 | - f$fa¥ Modernist Poetry-a3 S1aves i3 | fsfer Modernist
Poet 318 AfAfbw |



Question 47: In Shakespeare's play Hamlet, Hamlet was prince of

A. Norway
B. Britain
C. France
D. Denmark

Answer: Denmark

Explanation: Hamlet, in full Hamlet, Prince of Denmark, tragedy in five acts by William
Shakespeare, written about 1599-1601 and published in a quarto edition in 1603 from an
unauthorized text, with reference to an earlier play. - As Shakespeare’s play opens, Hamlet is
mourning his father, who has been killed and lamenting the behaviour of his mother, Gertrude,
who married his uncle Claudius within a month of his father’s death. - The ghost of his father
appears to Hamlet, informs him that he was poisoned by Claudius, and commands Hamlet to
avenge his death. Source: Britannica.com

Question 48: Adela Quested and Mrs. Moore are characters from the novel-

A. David Copperfield

B. The Return of the Native
C. Adam Bede

D. A Passage to India

Answer: A Passage to India

Explanation: Adela Quested 93 Mrs. Moore 2@ A Passage to India-Soaeia g6 914 6fHa |
92 TG E (773 E. M. Forster|

Question 49: “Shylock” is a character in the play-

A. Twelfth Night

B. Measure for Measure
C. Romeo and Juliet

D. The Merchant of Venice

Answer: The Merchant of Venice

Explanation: Shylock = William Shakespeare-93 (13T 916& Merchant of Venice-a7 %G 320l
SiFa| AGEE T ©IF FF AfFefe 27|



Question 50: ‘Vanity Fair’ is a novel written by-

A. D. H. Lawrence

B. Virgina Woolf

C. Joseph Conrad

D. William Makepeace Thackeray

Answer: William Makepeace Thackeray

Explanation: Vanity Fair, a novel of early 19th-century English society by William Makepeace
Thackeray, published serially in monthly instalments from 1847 to 1848 and in book form in
1848. - He also wrote - The Virginians. Source: Britannica.com

Question 51: Pip' is the protagonist in Charles Dickens' novel-

A. A Christmas Carol
B. A Tale of Two Cities
C. Oliver Twist

D. Great Expectations

Answer: Great Expectations

Explanation: Great Expectations ST &1/ Sf=@d o Philip Pirrip | ST ©1F SR Pip
BIGRCIEIC)

Question 52: ‘Lady Chatterley's Lover’ was written by the author of-

A. Lord Jim

B. A Passage to India

C. Ulysses

D. The Rainbow

Answer: The Rainbow

Explanation: =0 S19(® 1831 T - [ Sfefie (@1 Mo (73F Lady Chatterley's Lover
T8 (AT | AATR, fAGT T TIFSEE FET 7T (FH IF6T NNResFst o (FHd ((T3F 93 Lady
Chatterley’s Lover-3 (e12& 432 & | - Lady Chatterley's Lover -2 (513 2@« D. H. Lawrence -
Lord Jim-a7 (<133 Joseph Conrad - The Rainbow-a7 (7733 D. H. Lawrence - Ulysses-a7 (3%
James Joyce - A Passage to India-a5 (7¥% E. M. Forster SJodRR, (W1 I - Lady Chatterley's
Lover 432 The Rainbow X 7T SHOIE 91 93% GGIA2 (73 D. H. Lawrence| ©12, Sf3& T4 -
The Rainbow|



Question 53: Identify the word that can be used as both singular and plural:

A. wood
B. issue
C. light
D. fish

Answer: fish

Explanation: Wood =% Singular 43¢ plural 3 32 1956 @ M| fFF Singular T wood
o1 FT§ AT IF 2@ A | FF plural 2@ aft BER 39 ¥ T79% 2| Issue-a7 plural form issues
Light 99 plural fRST® lights T59%e 27| & fish =64 plural ROTE SerET fish 93 fishes GEIEE
TIF FA© A a3k plural RO T390 FAES AT I AMRT I2I64 RONRE 970 7G| AR,
wood-4F & 97 31 9% 7@ I 71 O3, SfdF Tad fish. Source: Cambridge Dictionary

Question 54: Find out the correct passive form of the sentence 'Who taught you French?'

A. By whom you were taught French?
B. By whom French was taught you?
C. French was taught you by whom?
D. By whom were you taught French?

Answer: By whom were you taught French?

Explanation: Active Voice-f Past Indefinite Tense-a at=| a3 afb Interrogative Sentencel
Who-J& Sentence-(? Interrogative 915 fTT: Who-a3 *1f330® & by whom I07+ Tense 3
Person I3 Auxiliary Verb 3| + Objectf® Subject 27| +9T@F 53T Tense I, FSTH NE
be/being/been IA® 27+ T Verb-a7 Past Participle 7| +I@EF fbF I07| O, ¥9%F Sod 3&-
By whom were you taught French? Source: Advanced Learner’s Communicative English by
Chowdhury and Hossain

Question 55: “The old man was tired of walking”. Here 'walking' is a/an-
A. present participle

B. adjective

C. common noun

D. gerund

Answer: gerund

Explanation: Preposition-ﬂﬁfﬁ?ﬂ'&rw@, Preposition-95 #(d noun, proper noun, pronoun,



noun group, gerund 071 A@ of-aF 7F walk- Verb-a9 gerund form ICIR|

Question 56: Which one is the correct sentence?

A. The doctor found my pulse.

B. The doctor saw my pulse.

C. The doctor examined my pulse.
D. The doctor took my pulse.

Answer: The doctor took my pulse.

Explanation: FTET 3% 4@ 166 11 a1 3 Take someone’s pulse a7 check someone’s
pulse I°1 *F| Take sb’s pulse Meaning: to hold someone’s wrist and count how many times the
heart beats in one minute Source: Cambridge Dictionary

Question 57: ‘l will not let you go’. In this sentence 'go’ is a/an-
A. verbal noun

B. gerund

C. participle

D. infinitive

Answer: infinitive

Explanation: let-a @ Verb-a7 Bare Infinitive (to-F319 infinitive form) I671 1%, go verb-&
to-f3=4 infinitive form | SJeaR, & Sod infinitive

Question 58: When Ushashi entered the room everybody stopped talking.
A.into

B. in

C.to

D. no preposition required

Answer: no preposition required

Explanation: Enter, reach, lack, approach,discuss 2&51% =SS o preposition 0T 7|

Source: www.englishgrammar.org

Question 59: The play 'The Birthday Party' is written by-



A. Samel Beckett
B. Henry Livings
C. Arthur Miller
D. Harold Pinter

Answer: Harold Pinter

Explanation: Harold Pinter (y»@o - 200%) 454 a6 (73| - The Birthday Party % Harold
Pinter 97 (AT AFf6 TM6F | ©IF AT FFII6 JR@IFH: - The Room, - No Man’s Land, - The Dumb
Waiter @31 Source: www.haroldpinter.org

Question 60: “Time held me green and dying Though | sang in my chains like the sea”.
These lines have been quoted from Dylan Thomas' poem-

A. The Flower

B. After the Funeral
C. By Fire

D. Fern Hill

Answer: Fern Hill

Explanation: In the moon that is always rising, Nor that riding to sleep | should hear him fly with
the high fields And wake to the farm forever fled from the childless land. Oh as | was young and
easy in the mercy of his means, Time held me green and dying Though | sang in my chains like
the sea." Fern Hill By Dylan Thomas.

Question 61: One whose attitude is 'eat, drink and be merry' is-

A. materialistic

B. stoic

C. cynic

D. epicurean

Answer: epicurean

Explanation: Epicureanism Sediwd J39F 3@ Epicurus | ST M@, ATaed ?K&ITﬁT(?r‘igir

TFINE ST FA© IE, ST ST F90© 2@ | R, BIF AFf [F2516 motto f&e- Eat, drink and
be merry. Source: philosophybcis.com and blog.oup.com

Question 62: Was this the face that launch'd a thousand ships, And burnt the topless



towers of llium? Who speaks the famous lines?

A. Caesar
B. Antony
C. Romeo
D. Faustus

Answer: Faustus

Explanation: Doctor Faustus *TeTed F1(% 19 A i 3@ 725 M 497 THe19 SAF1a
AWTRETT | 932 O3 Act V, Scene 1-a f&f 93 sia7eifl SHTR FES RE@H F0T 3% > | Source:
Doctor Faustus by Christopher Marlowe

Question 63: The Character 'Alfred Doolittle' is taken from Shaw's play titled-

A. Mrs. Warren's Profession
B. Man and Superman

C. The Doctor's Dilemma
D. Pygmalion

Answer: Pygmalion

Explanation: Alfred Doolitle 2T 9% 6@ ATIFT Eliza Doolittle-29 /@71 997 G B Shaw-a7 {9371
6% Pygmalion-a3 5f4a|

Question 64: The poem 'The Love Song of J. Alfred Prufrock’ is written by-

A. W. B. Yeats

B. Robert Browning

C. Walter Scott

D. T. S. Eliot

Answer: T. S. Eliot

Explanation: T. S. Eliot-a3 (717 %G f37Te fJw1 2 The Love Song of J. Alfred Prufrock |
Modern 3JeT 932 Modernism-4TaT 3 RIREISET 92 FAOF Tes BelE Fb SOR|

Question 65: Who is the author of the first scientific romance 'The Time Machine'?

A. George Moore



B. Samuel Butler
C. Henry James
D. H. G. Wells

Answer: H. G. Wells

Explanation: H. G Wells & 9% - Herbert George Wells. fsfe a%& G (713% | - ‘The Time
Machine’ H. G. Wells 3f5® a3f6 fFam@ science fiction. B3 A6® SEAETST AMET FEF6 SIS
f%3 e - - The Invisible Man, - The War of the Worlds, - The Island of Doctor Moreau, - The First
Men in the Moon 2enf4| &3: faB1TI

Question 66: Call me if you have any problems regarding your work'. Here ‘regarding’ is
alan-

A. gerund

B. apposition
C. conjunction
D. preposition

Answer: preposition

Explanation: IEE I%: (GIF F19 @ (P N ATFE W@ 7 (FIET| regarding
(preposition) Meaning: relating to somebody/something; about somebody something « She has
said nothing regarding your request. « Call me if you have any problems regarding your work.
Source: oxfordlearnersdictionaries.com

Question 67: Select the correct comparative form of the sentence. 'A string of pearls was
not so bright as her teeth.’

A. Her teeth was more brighter than a string of pearls.
B. A string of pearls were very bright than her teeth.
C. A string of pearls was brighter than her teeth.

D. Her teeth were brighter than a string of pearls.

Answer: Her teeth were brighter than a string of pearls.

Explanation: I@F 91¥: 31 JT3 ©FF TOSENH e 9 S8 el J1| I not-J& (F1 Positive
degree-a3 1 46 TS/ & @HARF SN (FRAT, ©4F fAwa @367 6@ Comparative
F9@ 23| 3T noun/noun phrase+ be+ adjective (comparative) +than + S3 noun/noun phrase 1,
f5% S8 2 Her teeth were brighter than a string of pearls (S1F TTSSE YT AEH HRGS
T%3eTod f%el|) Source: A Passage to the English Language by S. M. Zakir Hussain



Question 68: ‘Come on, it's time to go home’. Here 'home' is a/an-

A. noun

B. verb

C. adjective
D. adverb

Answer: adverb

Explanation: Home *fb a2 adverb of place | SI5ET Sfd, where, why, how, when 231w
TS @ Verb-F T F@ M3 T332 39 adverb| Home =68 N SXET Where-97 ©ad
NSz 972 TAC© A% (FTT JMSTF (go) FT I (1| TR, V% Sad adverb|

Question 69: ‘Huffing and puffing, we arrived at the classroom door with only seven
seconds to spare’. In this sentence the verb 'arrived’ is-

A. Defective
B. transitive
C. causative
D. intransitive

Answer: intransitive

Explanation: Arrive (Intransitive Verb) (I Verb-8TF ST (F1 direct object AF &1 ©I(F
Intransitive Verb IET1 3% 3% Verb 2 arrive, die 3o51% | F1& a2 Verb GGIE SIET 1 1 I
9@ =7 FF0@ MF J11 B2, AW SN (F1F object ICT 71 T SfARG IS T AR (T AT
FINFE (T | af6 AT (FRIT (T (67 FFTT = 918 at the classroom IR
where-17 Tod fotm| 3@ ‘§ 31 ‘FI@ 5 93 Verb-(F INAT 7 FI00 MF 11 ©F, T Sag 2o

Intransitive Verb| Source: oxfordlearnersditionaries.com

Question 70: Which one of the following is a common gender?

A. king

B. Queen

C. emperor
D. sovereign

Answer: sovereign

Explanation: King 2 masculine gender Emperor 2T masculin gender Queen 2 feminine
gender f3& sovereign *=(G TS I AT - (T FNEF T2 FIT© 3@ M| ©13, af6 common



gender| SJeFR, 9% Bad sovereign |

Question 71: b (Y@ 880 AT ATISENT AF6 MIETT THOTO (3T T N2 IS T2 28T
NEEA-

A. /4¢
B. S/L8
C. bvo
D. S/3%

Answer: /3%

Explanation: s (¥(& 880 = (TG M) = 880 5Jef F5(TATF AT AN - {8, 8, D, b, 3¢,
Y, 85, L8, Y, 500, I, 588, SLD, SDY, I, IBD, VB, VLY, oo} (B 206 .. ATHE TEFT =
30/880 = H/3X

Question 72: 0.53 + 0.005% + 0.00005% *+ ........ BT T 79 S (F[STHA-

A. 58/33
B. 8/5%
C. 553/
D. 8/vv

Answer: 8/9v©

Explanation: o0.53 + 0,005 + 0.0000%% + ...... = 0.5% + 0.53%0.0% + 0.53%(0.05)R + ...... AT, a
= 0.5, F=0.05 <5 N M@ S, s = a . {(5-rn)/(5-1)} = 0.53 x {(5-(0.05)N)/(5-0.05)} = 0.53 x
{(5-(5/500)n)/0.DD)} = (0.53/0.9D) x {S-(5/503)N} = (5DD) X {S-(5/503N)} N I T, s = (SIYDD)
x {5-(S/S0)} = (8/@w@)(b-0) = 8/ww

Question 73: V-8 x V-2 = $97?

A 4

B. 4i

C. -4i

D.4

Answer: -4

Explanation: V-8 x V-2 = V(8(i2)) x V(2(i2)) = 2V(2)i x \(2)i = 4i2 = -4



Question 74: |x - 2| < 3 3, m 433 n 37 (39 @S 9% m| < 3x+5 < n JF?

A m=1,n=10
B.m=4,n=40
C.m=3n=30
D.m=2,n=20

Answer-m=2,n=20

Explanation: |x-2| <3 d1,-3 <x-2<39d[,-3+2 <x-2+2<3+429,-1<x<59,-3<3x <157,
SB35 <3x+5 <1545 . 2 < 3x+5 <20 (T, M <3x+5<n .. m=233kn =20

Question 75: 936 JATSEHER G ¢% (@ FAE OF (Fa%e o] F© (% TE?

A. ¢%
B. 0%
C.20%
D. ¢%

Answer: ¢%

Explanation: N@3(H, AMTSEEF (75 x 9 TFy .". (Fa%d = xy % F@0®, (7= = Soax/Soo
ATW@, (Fam = (box/Soo)xy = Sokxy/Soo .°. (Fa%e éﬁi = (bdokxy/So0) - Xy = &xy/Soo .. (FaHe
(% 27 = {(txy/S00) x Soo}/xy = xy/xy = %

Question 76: f6faa FT 0% T TSI fBfd I ToF1 F© ST IO fofd Iq7 46 952
VFE?

A. v%
B. ©(5/9)%
C. %%
D. S5(5/9)%

Answer: 55(5/9)%
Explanation: w3, fofad 37 Soo BT S0% FI fbfd 375 = Soo-So = Do BIFT TG FTF »o

BIFT T = Soo BIRT .. TGHIT 715 & BIFTH IS = Soo/do BIFT " TONT 5 Soo BIF T
= (500 X $00)/D0 = SS5(5/3) BIFT .". Tofeld FTI2IF ATIO 2T = SHY(5/) - Soo BIFT = $3(5/2) BT

Question 77: b G 5 38 Ja7 o a3(6 SoraR faged Faze-



A. 35V F5f (7.,
B. w0y} F5f (37.f3.
C. e 35 7.
D. 39w J5f (5.1,

Answer: Y3\ F5f (313,
Explanation: &f¥, AABC 99 312 (7% AB = BC = AC = a 23 (W37 9w, fagoed =fFfife Jea

T, R = b CT:f1: .~ faQea TR S[alepiE, a/SinA = 2R J1, a = 2RSinA .. a = 2.4(Sinyo°) =
53 x (V(©)/R) = b .. fagEa @awe = {V(9)/8}a2 = {N(©)/8}(uVw)2 = {V(1)/8} x Yot = 3

Question 78: AABC 37 ZA = 40° 32 £ZB = 80°| £C 99 Ya3F AB J1=(@ D fFjte (=7 Fa¢
ZCDA=?

A. bo°
B. Soo°
C. d0°
D. SSo°

Answer: S5y0°

Explanation: f6t, ZA = 40°, ZB =80°, £C =60° ZACD =60°/2 =30°.". ZCDA =180° -
(40° + 30°) = 110°

Question 79: ¢ & TFF 3 8 Tl NIRAH AF6 7o (V@ AFO YT 3 [0 FizeT] [T F© TIIE IF6
G IO FAT IM?

Answer: wo

Explanation: ¢ S &¥ 132 8 I X1 (V@ S I TFF 93 X & A2l [ FIG = S, =
@Cs x 8CR = ¢ X Y = 9o

Question 80: x + 21/3 + 22/3 = 0 X, x3 + 6 A7 A« F©7?

A. 4x



OO0

.8
.4
. Bx

Answer: 6x

Explanation: (M8AT AR, x + 21/3 + 22/3 =0 1, x = -(21/3 + 22/3) .......... (1)1, x3=-(21/3 +
22/3)3 d1, x3 = -[(21/3)+ (22/3) + 3.21/3.22/3(21/3 + 22/3)] q, x3 = -[2 + 4 + 3.23/3(-x)] [(1) =%
R©] AT, x3 =-(6 - 6x) dqT, x3 = -6 + 6x .. X3 + 6 = 6X

Question 81: 5x + 8.5x + 16.5x = 1 X(, X 47 [« F©7?

-3
-(1/2)
-1
-2

OO0 W >

Answer: -2

Explanation: 5x + 8.5x + 16.5x =1 97, 25.5x =197, 52.5x =141, 5x+2=50q,x+2=0.". x =
-2

Question 82: 5/12, 6/13, 11/24 13z 3/8 97 &S IS SIRI-

A. Mon May 12 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

B. Sat Mar 08 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

C. Mon Nov 24 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

D. Fri Jun 13 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

Answer: Fri Jun 13 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)

Explanation: 93T, 5/12 = 0.417 6/13 - 0.462 11/24 = 0.458 3/8 = 0.375 Gaa: ¥

Question 83: a+ b =7 a43% ab =12 %, 1/a2 + 1/b2 a9 q F©?

A. Tue Mar 25 2025 13:00:00 GMT+0600 (Bangladesh Standard Time)
B. 11/49

C. 31/144

D. 25/144

Answer: 25/144



Explanation: (M3ITAR,a+b=7aRab=12=6%x2=3%x4=1x12"'"3+4=7..a=3,b
=4 (E (@3) .. 1/a2 + 1/b2 = 1/32 + 1/42 = 1/9 + 1/16 = (16 + 9)/144 = 25/144

Question 84: FXF S0% FAHI Yoo BIFR X IREI bFJ (& LA F©7?

A. >80 BIFI

B. Yo BT

C. dko bIT

D. >4 51T

Answer: 4% G131

Explanation: 33T, I[FTHT, p = oo BIFT JAHIT I, r = 0% = do/Soo ST, n = I=F .". 5337
A, ¢ = (b + )N = Boo(d + 50/500) = Boo X (550/500)3 = DbV BIFT

Question 85: log2 logVee2 = ?

-2
-1

oo w>
N =

Answer: 2
Explanation: log2 logVee2 = log2 logVe(Ve)4 = log2 (4 logVee) = log2 (4 x 1) = log2 4 = log2
22=2log22=21=2

Question 86: sNf%w (graphene) F1 I2FA1?

A. FIET 3 TRETE
B. I 8 ARG
C. & 3 WSO
D. ¥ 49

Answer: 3

Explanation: STf%e @ 436 RO F571 NROSNE T, 951 FREF 936 TOQOPIOF Hiod I
1 I I (T SAffb IEF JFT 9F TN S| {6 SAIFNET Tl A4 (R 97 FeABlA bl
FSICTTS Y050 N A FHIE (ANET AT TS FE |



Question 87: JRTLIRA (VIR JTFHIF -

A. IS ored ST

B. NI T IS MIFET Sy

C. FH5T7 NI Ty

D. ST BGS {HITT I ZA el

Answer: JEF 63 fHITF AT T el

Explanation: (F1a (F1a 4TQd T AT TS SI3HAF 2EFE 56 27 A& Hh-o6s (FHI TE@
SDo¢ ST fIRTAT ARTLRA (FIIFLR Bad SRS H0T OGS {731 I FE | 92 &4 ol va38
ST (ANET SFSE §© 2| OS%: T% s T, aFm-ameT cafey

Question 88: (F1F *Mfete AHSEF 7 @2

A. TPES =Tfete
B. (A&F M@
C. ST151E4 *Mifeite
D. 417 feite

Answer: T4 @

Explanation: SI&% AT (6 SN Nfate SAHSEF ST @& A0 | 97z, SSTEF NfAT G F o1
Mferte AR @ 0@ | Rapidly moving water, such as in a mountain stream or large river,
tends to contain a lot of dissolved oxygen, whereas stagnant water contains less. Source:
USGS and others.

Question 89: TG (¥ & IRE [T I (T T

A. (&34

B. 9%

C. Fnfsrenf

D. SbIfF

Answer: IGIfE

Explanation: (I5F I&A1F MW T& 23513 (AF (MR [Afeq 10T T1fze 23, O &=f 1 Abif
JET| B35 fFBE, FIH-TT AT |

Question 90: (6 tofd =~



A. %316 smive o

B. fASfFs amfve fom
C. 9@ (@62 9%
D. SHIRET Imie @

Answer: SHIRNET SRS @

Explanation: 149, TRETEW, AFE 472 TREEET THTE AT sfde | NNEFF 95F 39
SIRENRET AfSTG | SIENE R S AT ST T (ST SHENRET AS =fHere 27| e[
TG 9 G Y0 FFTH THRET TS MNIAT (ST I1F M & G 2T AT A IHRET AT | S
A | TIN-TT (A} TS 20 6 IET AT (BT S =T F@ | WA I1 27 (NfoeT
ST A | T8: aFTWI-7W (&fd, Ff[Ra | e TRE 20 B smfden afro g@w, 3 enfoa
ST FTeT FE | T: fFB1fT|

Question 91: (FE(G Mfe Giee 27 A1?
A. fasifae

B. feofad

C. OTIISIN GRS

D. FFENIN FIETEH

Answer: FEANIN FIETEG

Explanation: ST @6 8% e 43tge 23 a1l Source: chem.ncbi.nim.nih.gov
TG (@ST CTREAN @RS T AT A0 T, 03N Fioof smrf a7 e wqay| {Fog

T OfS AfTT 57 (oeTe Svr¥, 3T AfAe T2ER udioe 27| aw=s] s M wdtee 271 =,
FIESTAR FEHEE FFMO0® GATTNE, N ME, 5F 3 Wiy FCT ey, 31 fFam T s=yfens

SIEINMT| Source: chem.ncbi.nIm.nih.gov & Britannica Encyclopedia.

Question 92: MAICR (MfRe FIFF NJFT Fo fMa?

A.q g

B. wo U

C. Svo fud

D. O&ET (@162 9%

Answer: SIER (P62 73
Explanation: (FTR® F&FSTa A MNT &1F A 318 30 fdf| (Mfze T M2 (@ 7w 0@

AR SIHNF TATSE T (N (MRS FAFT TSI TIIAR 27| G372 @, q350-7 (fef | (Mfze
TEIABIE A S0 fuef | 1T AFHIHA (FNMR© T& FAFT tofd 2| (7TRS Te113] A2 (O A6 NE



932 BIRHAF T RN (A (MRS FAFT TG TIIT1R 2| F& FAFF N (MRS 7@ A
AT NAGE @1 a6 THFE AH@ (02) 7Tz @ ST TR 7 F@ | (ke I FAFI
fYSTFIT A N1, (73T AT J6F (ol fF-oTqoeT | o FIFRIT >F-5o3 CIfe

Question 93: 417 MNAT (F@ FA6 F©T?

A. OEF (P62 93
B. COD < BOD
C. COD = BOD
D. COD > BOD

Answer: COD > BOD

Explanation: =7 IITAAS 913 S1f2wT (Biological/Biochemical Oxygen Demand - BOD):
=fete SAMTe IS FOF (59 8 ST TF [FFMES Fa00 TSI 9o AT A=A
STl AN SITHE G121 A1 IITA S SAH@ [SHS BOD I | =Mfevd T F¥e fA&fTaer BOD
A F0T IS FE |

Question 94: TRAHRGF-F N5 TSI ST

A. Sddo
B. 3¢
C. x000
D. v939

Answer: Y219

Explanation: Quick Facts from NASA Mars Pathfinder MISSION TYPE Rover: "Sojourner"
LAUNCH December 4, 1996 UTC LAUNCH VEHICLE Delta Il LAUNCH LOCATION Cape
Canaveral Air Force Station, Florida LANDING July 4, 1997 LANDING SITE Ares Vallis, Mars
END OF MISSION September 27, 1997

Question 95: S I ILHIEH (F1H I I 59?
A. O3

B. FCTRIST

C. (SCIST

D. BTGNS

Answer: SBIGIRNST



Explanation: INSER fRSIY I7 BICHST | 93 I SO SHICTH I (@ SR S| a9 S 39
STE SETR (@FFe1s AfeESH I 8F (@71 92 IE I© AS TH YTl =0T (FIE] I35
SAIITOT AT | BT ARSI AT 6 3 BF | HG-J(B AT I3 92 IFF 7% 7 Ne7ere (36
ST GeTT6e S| SN2 QI 3 SIHE, FIH-77 (Hfel

Question 96: FIYE SN SI=7F A FI?
A. 3

B. e

C. IREE

D. @rETsifaee

Answer: @RI wET

Explanation: S ST - Tear Gas --> Chloropicrin ((FTEIEe) F@e: CCIBNO2

Question 97: AN TIRF TG I AT F7 272

A. 35q
B. S5y
C.eq

D. ya%

Answer: Gk

Explanation: S 93924 S (F [9Y Ao+ I @ IF AEHIN 96| A6 7w 9551 935
AMNFIE A 9.4607 x 1015 m (1 9.461 trillion Km) | S, WS 516 3 x 108 ms-1] T3:
AP (AT e e (:F 57a) (16 I3

Question 98: S fAFoeN THES -
A. (e

B. SIS (FGISfH B

C. %] (FBISH A

D. =f3 CTBISfa

Answer: T3 (GG

Explanation: SJ¥3 NIGE fasbes asa Af31 CFBR1R (Proxima Centauri) | ¥ (¥ 97 73 8.3
SETFIA | Az YOI 3 SR, TI0-77 (i (F16 IR



Question 99: Soo 3AB-17 A6 I [OF I S FHT 5o P e I 2J?

A. Soo G

B. Lo et
C. Yooo I

D. wYyoooo (’)‘f{
Answer: ©yoo000 I

Explanation: 9% 3316 FHe=T (FN] &S I AT T 97 F67 §F ©f 6% TS 2T (F A
©f&s e e fete FABEHES 2 (FN 1o FAE MENS =fe 7 T3 FIT NfHF *e N8IT )
15 2% AF STG-HBTI S STB-HBT = & STT6 X b Hb AEF THT TG Hb1d AT [FESIG TGI8
TR FA1 27| 9F [FEISAT T61 FoLF & (V018 (I FAT IF| S [FENSAG-56T = Sooo SING x
VYoo (FT = 9,40,0000 STG-(TFT = 19,40,0000 FFT AT} FF AF@ A6 0. Y G5 FFT| TR,
000 SITG-AF AFfC ([@RFfeF T S T 6T & T T = 0, 40,0000 FT B, Soo 3AG-9F IF6
@S T S TOT 5 JE TI T = 9,310,000 I ABKMGFONT, ©fGS TTIIF FETSTG-TET
AFF ST FA 2T | 9% AFFE (A6 AT (G (BOT) 2TfAG I1 SRH0T 25146 J6 1 Sway (¥ s &
STHCNY FH ©F 92 AF@R RN F91 7| (FHIEST: - So¥ (e sy

Question 100: XF3[@F I19-27 BTG TET 71T (Of9-
A. AITH

B. ¥«

C. (5

D. B1TeA

Answer: G136

Explanation: @516 I@d o6 BTG @ W©fF | Tungsten (Wolfram) 98 @ W,

Question 101: Apache a5 9<-

A. Database Management System (DBMS)
B. Protocol

C. Web Browser

D. Web Server

Answer: Web Server

Explanation: The Apache HTTP Server, colloquially called Apache, is a free and open-source
cross-platform web server software, released under the terms of Apache License 2.0. Apache is



developed and maintained by an open community of developers under the auspices of the
Apache Software Foundation. The Apache HTTP Server Project is an effort to develop and
maintain an open-source HTTP server for modern operating systems including UNIX and
Windows. - Apache.org

Question 102: FTST IS G:-97 TST NS (F1AG?

A. ITFIOETS
B. atmefefas
C. %63/
PRCLIGERERIGH

Answer: STET NISE

Explanation: 18T FP-SoTE F41 NS NG (T HFT IAPIE fSF ST ©15T F7 IF | -
S, IFFIENSTS (A7 (laaS: Infrastructure as a service): TFINFFIAL ©IF TFEAT A0S FEEH 3
TESIF BIAEE Sl FIOG (AW AoV BT (Fo3ITF, HPRS, CHIES 8 AT (NfeTH
FrSH: AT ST (WF| 2. ANbHASeF (AT (PaaS: Platform as a service): 186G (FAWTAT
FFSOHT TISAT AGSTE, MG FCHN, SFI O, (GOIES, (NN AfFAS I Tt
A | AT (SIS S (SfF FAT FE W 92 FHHE SIS BIME MEF| ©. TSI
(74T (Saas: Software as a service) : FIGG AP TGO (SfHFS MNHFTH TH3TWH
TIREFTSTT THEEGT N SIS | 5@ T (oIS, ST 3 (@IS YfF, 4365,
Sqe gy

Question 103: @9 (@68IF LCTFR® 219 (hub) TIZF FAT TJ?

A. TS BOTTEIS
B. fa: Gomfd
C. & bomefd
D. SB1g GeTEfdy

Answer: 513 GO

Explanation: BT BUTIFIfT: 9 SER SO 33576 (ST fES1RN 97 S SN FE=SHIESTE e
| (T FEeRAG 2(© M 936 21T 7526 | TF 7526 A7 M FEESCIFSE TT=ET N
(TSTIETST 57 FACO AN | GIGT GG [Vl H 2T T 5RZE | 95 FETSHIF (NP ey FETSOIH 3
CIBT TG Sofy SN (S fES1RTT (I Fe(0 T | AT (P4 GO TIBT SRAFI ST
TI6T T (WF| <img
src="https://elasticbeanstalk-ap-southeast-1-051040323559.s3.amazonaws.com/livemcq-files/m
edia/uploads/asdfasdfa.PNG" alt="" /> a: S&TH2 (FEIIMF2, ©XF 3 (N FJ[e, 926, T
farafmrrer



Question 104: 936 FFISHIF boot FJT@ *ME AT I ©I@ T AH-

A. compiler

B. loader

C. bootstrap

D. operating system

Answer: operating system

Explanation: S/7TED: COEE 859 AT TH63TE AT (AT 51T A0 CoN8 9F HF@T
TGOS | FPHSCIF CEH ST 28I (TR SIMED: O 3Fgf Ique IF®| FPISEE
(62 FAT(VF BF IE ILCOR I% FA] G N F162 SMAG: HCEeE SRaTE " eife 3
forafare =31 I MEfE: CEN FFTSHIET TIT T2 FE A | BT 93T NETE TP THF3
FESTSHIE JIIRNT FAT &I AR

Question 105: TRENHE IS 2% AF(5-

A. 30739 TO1F
B. T1R9 TOF
C. TIGIE3 o
D. 89 NOE

Answer: 8FF HM®TF

Explanation: Internet Information Services (1IS) for Windows® Server is a flexible, secure and
manageable Web server for hosting anything on the Web. From media streaming to web
applications, 11S's scalable and open architecture is ready to handle the most demanding tasks.
Source: IIS.net

Question 106: FLY F© TAT G FT& FE?

A. So-vo BT
B. So-¢o fRIBEI
C. So-woo G
D. So-Soo fGIF

Answer: So-Soo fGIE
Explanation: F5¥ X% ORI 1T AfFT (AGSATS AGIHT I TG G (GBI AT T v

970 2| 9T YT NHFTO So (WF Soo HEF TF ACF | TS: © 8 (NS F[&F, 9FT7T 3 TWT
1, ST HIF T2 |



Question 107: 36 NCHF (FATT ARGASET 9F T@ TFe 2T [FF AT @ (V@ NI W O F
-

A. Array

B. Linked list
C. Stack

D. Queue

Answer: Queue

Explanation: Queue 93 IR ARG WGTETI Queue A (T (TBT IV J@T FAE (12 (GHIG IV (IF
3E| 9@ F1 27 First In First Out (FIFO)| Queue 97 43518 @ Insert/Enqueue 2 Fe51@ fa@
Delete/Dequeue X | MM, Stack 2 TIHT 236 A7 fEfHT Sy AT 2@ A& | 5a: Queue <img
src="https://elasticbeanstalk-ap-southeast-1-051040323559.s3.amazonaws.com/livemcg-files/m
edia/uploads/asdfasdfasd.png"” alt="" />

Question 108: 4T (FEM anti-virus THH3INF 997?

A. Kaspersky
B. McAfee
C. Norton
D. Oracle

Answer: Oracle

Explanation: Oracle database (Oracle DB) is a relational database management system
(RDBMS) from the Oracle Corporation. SIfFSET Anti-virus STHESTF |

Question 109: (T FEITEIF ST (% VLA IR (FIS (7147 27 IF -

Python

C
Java

A.
B.
C.
D. Machine language

Answer: Machine language

Explanation: F1S61E NI AT IE@F ©FT 2E (I ©¥1(Machine Language)| 3 S 13
RN ST (1 932 0) ST (RIS TH(S TTIRN FE TP (T 27| FESOIF BAa (e
SRR JA© M| 2 SRR S (A1 [ 1RE Sl AW (S T7F1E 77 q| 5@z AFTT-77




CITT ©F 3 (TN Y[ 3R (SHS)

Question 110: API J(=-

A. Advanced Processing Information
B. Application Processing Information
C. Application Processing Interface
D. Application Programming Interface

Answer: Application Programming Interface

Explanation: The requests for service and application communication systems used in an
application by a programmer are known as an Application Program Interface (API). Source:
Techopedia.

Question 111: (T ETHF fEF (SREF ASEE TEF 0 BEI@ TAF TF 275 AfSF 1 ©1F A1A-

A. AND (535

B. OR (5%

C. 9@ (@62 9%
D. NAND (526

Answer: NAND (5135

Explanation: NAND (516 95 3975 SIGG2[6 fvs¥a=: A B -> OUT -----mmmeemm- 11->010->101->
100 -> 1 a3 ©F 8 (M Y[, 26, S g

Question 112: AT (FHBT (@M 778 NG F3?

A. Wi-Fi

B. Cellular network
C. Wi-Max

D. Bluetooth

Answer: Bluetooth

Explanation: F5Y (%= STRIRI M1 AfFT (FE3TTF AGIFT JT T GAE (SOT AT T ey
920 | AT 79 NHFNS So (WF Soo B @ | TS ©F 3 (AT Zf&, AP0 8 FT
Cafd, ST I A |



Question 113: A (FEG Soo AT S FAEEG?

AL SSS
B. Sob
C. ood
D. obS

Answer: obY

Explanation: IRFIE AT 0 7 3 S T2 S 97 3 o INT TR T2 T3 SftE,
Afea S a7 AfFTFSF (1's complement form) S5 MSIT I | FwaF, Soo AT & 97 *HIF7F
REIT 0SS

Question 114: RFID Jt® J313-

A. Random Frequency ldentification
B. Random Frequency Information
C. Radio Frequency Information

D. Radio Frequency Identification

Answer: Radio Frequency ldentification
Explanation: What is RFID? Radio-Frequency Identification (RFID) is the use of radio waves to
read and capture information stored on a tag attached to an object. A tag can be read from up to

several feet away and does not need to be within the direct line-of-sight of the reader to be
tracked.

Question 115: Y (@6 OF 73?
A. 32.PNG

B. 35.PNG

C.34.PNG

D. 33.PNG

Answer: 33.PNG

Explanation: BCS_12.PNG

Question 116: fAEF (F1F AFISE TARKATH F@ 936 T EEF < (ofd FAT I?

A STTI I &Y



B.aqrdafa
C.nerfawr
D.alaca s

Answer: 919 QI

Explanation: SI@EE (IIT) faTaa; S - ab7 I I A@EE 324 (7F - FwT S5
(Fra o) 9% STHWF 5146 38 BT {(T3F q F®) TRA=91%: + FNa= ARF@; TITADI} 5@
FREAT APTGH ATSHT |

Question 117: 'RELATION' - 97 SI¥a¥ Sfef3T @& 2@?
A. NOITAL3A

B. NOIO L3y

c. «ellion

D. NOITA13A

Answer: NOITA13A

Explanation: a2 Teafbd (F1 TN (3 |

Question 118: *ESd F (B aNT FIART| GIF T F, &, 5T, , & | F @S 5T 97 AT, T AFAF & 97
T T ET F AT ©R 9T W T F 9T I/ & 97 WO N 9T FHF B2

A. SRR

B. forer
C. BI5T
D. 87

Answer: 89

Explanation: F 2@ 5T 97 3T; 43¢, ¥ T 171 T TR & a7 T I3, - F 8 ¥ 9T T | AT &
O CTI-SR | O1R(, ¥ (J1AT) 2R & A7 I3F|

Question 119: I% T T a7 (TFAF 2T, ©F N S v o M T IF I&@?

A. g
B. (™EF
C. 57919
D. 359



Answer: J591F

Explanation: 3T el = (AT (3+9) JT > ©F fAa= (THIATF (9+9) T S ©F fTa= (THITF 19 ©F el
= ¥HARE S ©F el = JHIF

Question 120: TARES fBfFre I (FF =257 INE?

Answer: 4%

Explanation: 8x4 + 7 =39 3x6 + 9 =27 7x9 + 5=68

Question 121: ¢o G ST T foxet 857 (I 8¢ fifelG, LBT I6© AT FoHeT ST J1fF AAR?

A. sa a5
B. 2o G
C. wo f3fan
D. ¢ fifaG

Answer: ¢ NG

Explanation: Go f3fa5 st S9F foeeT 857 (J051 8¢ BTG | ©RET, IOA ST ¢b7 wefifas| JeaT, b
B1 I 1% @Imtw x¢ it

Question 122: % 8 Tfd FIOE Fef« sifox -

A. SR

B. S0 fa@

C. 5% (T

D. a2 fae

Answer: 932 fa@

Explanation: ¥ =T5(® 26T SfGF 1619 M@ FA© 27 AT 370e 2@ (a1 |

Question 123: 9T (FE0 TG (=G T2AT?



A. S/oy

B. ¢/v

C. Sy/vy

D. 8/5%
Answer: 8/53

Explanation: 3T, SB/98 = 0.¢ ¢/@ = 5.L19 SU/VY = 0.5 /ST = 0,90V T3J:3 H|

Question 124: .5 x @, ©© x 9.\ = ?
A. 9.5¢
B. ¢\
C. NP
D. 9wy

Answer: .94

Explanation: .5 x ©.9© x 9.5 =3, 948V =3 VY (TF)

Question 125: 338« TEF (T % IR F& 95 T=d 77 © AFF ¢% (FER| NG ST ©lF
(o TeFA] Fo & 1 2 (TA®R?

. 0.0% (O™
. 0.3¢% (O™

. 0.¢% FCEI®
. 0.3¢% FE®

o0 w>»

Answer: 0.3¢% FE®R

Explanation: 4f3, ? F5f&d (394 Soo BIFT ¢% I (Fo 2F = »¢ bIF AEF, S T=F 99 ¢% Jfa©
(O 3T = D€ x SYo¢/S00 = $.9¢ BIFT .". (Fod FE® = (doo - 2.9¢) = 0.3¢%

Question 126: (FF I ST?

A. Incyclopedia
B. Encyclopedea
C. Enciclopadia
D. Encyclopedia



Answer: Encyclopedia

Explanation: Encyclopedia:(noun) @, ®9@F; A&, ON@E| S@s KT 93BG
ST |

Question 127: 5% : FT6T : ARG : ?
A. TIEIRIR6

B. @@l

C. fofss

D. *aw

Answer: 199

Explanation: Sfte (I9d ST5F AT FAC© F161 T2 27| (SN, HRIGIE SRl S&ENT F7©
Y HIRNF 2F|

Question 128: Yoo (Y@ Y00 AF A& © AT [Ty T2247 FI6?

A. S
B. v}
C. w8
D. vwo

Answer: ©©
Explanation: @ &7 JOTSY ST (Roo - Soo) =Soo +© = wofb .. {50y, Sog, So, H5Y, H38, v,

130, S, S3Y, B3, LY, SBE, SOk, $8Y, 188, 589, $C0, SV, SV, SED, SUR, SbE, SLB, LI,
98, 599, SBo, SBV, SBY, S, b33, SDC, SV} (B = wefb

Question 129: “fSfa S FAT IEF o1, i IracETe HIREF FATI”

A. SIRIT A
B. 33T A

C. ffiam
D. 9T
Answer: GET

Explanation: ST3& S 2621 2@ (51, A 16a 2| ST (AT 2T N NEEF 0T (W]



FEM| S, BY IRAR 77, NRFIEF CRHET T @1 ZE orF SqEm F79W, L@ FFAE
ST SoAfey TSI AT SR (¥ | FSFT ST 21 FCET oY, FSfel ATy Qo1 MREH F7|
ST I, =2 TR M NCT @ | NI I, 5F AR, AT ATTAS IAT| SN AT,
ATTEANT JET SO FIET; AFATF SN 9 TXF IAAR, o7 (FC AT FAT I, AT T2 (J
TS, AFHHS I (7 2T, ©IF AT F NG (A (FF| - 9 AT PFe2™F el

Question 130: 2T Tad fit® Yo AT (RE TP [ ¢ HIRT 2G| ST SIAME HCF X AT

G| fofd (@ @ 26ma?

A T&

B. sif¥es
C. %aq
D. w¥gef

Answer: Gf35e

Explanation: BCS_13.PNG

Question 131: SKITHNET FH JEH ACEE IRATCT @@ Afo TGS 772

A. ST 33
B. 9le[(®=" Y9
C. e[ 38
D. Se(52% X¢

Answer: Je[(®1 ¢

Explanation: IRTNTCTE kIS [FSIT F@F 3¢ T e IRTWCTH TFAZANS [
SIS AT TR | (Y - 3¢ AFANOF M, fHRTTaT 8 Te2foq SHIF Sy NR(©y 3 He|
S T51, IAHIH AEF ASTBA [T I 1 F41, A@SOF [HENET MR T 932 ISP
AREH 3 SNONREF N4 Jfo ANSTRF S A7T-12 53 A6 23F B NSNS T fofs
A3z 9% NHe oF 600 AT (F) MSINSF T (F@ ST Af{2F 932 &7 3 57o5ef
fTTHFACE ST (BB FIAGES, (V) H@TF SO I NG ST TN 3 TEF NN I fersrg
TS, TNAGF 8 TNAGF T3] AT 3 STHAS AFIT THAT FIAQ; AT (5T) THBHA,
JMfEFFeR™ 1 IAITNAH [T [T 741 AHEe STswm aEsTse A ST FEEE|
TR IR TeIH 3 TFAZ TFNTIF STITRG |

Question 132: IRATECIE NG H (FTAG AIF0?

A. G BB
B. (&1l



C. fa3pr Gt
D. CFoGeT

Answer: (TBNo

Explanation: IRATWCTR TG TIAFFG - CRRGNMHF &1 - A6 a6 2SI I FHIONT Sl
CFA SAEE AGS| - "(TRBAMoa AT IRAWCTH AFN[@ FJTT &7 A7 SN 39 I FERBE|
- IO FI A6 " HfEE T @S| 97 (ROTE IRAWCTT TS T | IRSTS, -
FRAECTR NS AFCEE T - SERAIETE (), Fasia (SSe), NP AT (F) | - IRTGCE N
SOE- TS (), (SR (SEe), IRAITHT (RSFT4), SANF (® (FH) | - IR 5 =
AT ((STT), NS (SHE), JAHII( F) | B3z TR STl ¥ ©F ISTIF 8 IRASAT|

Question 133: IRA@CIR S@T6! BT TD FIH?

A. oft
B. 8f5
C. uft
D. ¢f5

Answer: ¢

Explanation: S1ates (N6 ¢f6 JT6% IRWCTE TA@IS! | ASE R - A - fasfaT - e -
(TR 8 - AFGNDT | T2 IGTH G IRANTT 97 SFINRG 3 SIE ITGeTN |

Question 134: (@9 TP (MRIACTE IRTAECT AW TS N[O ST FZNEF FIET AT THN2® FAT
[?

A. F5PN3T GTRI%T ST
B. T AE@F JfH AN 6%
C. I IS T CIRPAT T
D. f=nigt =ifeia Az

Answer: fs7R} 2SR 720

Explanation: FE=@ 13f%e HaI9! FITIE 2 59 JFCOE TN SHIRe FAT @@ | STHT I -
S. SHETS FRE EHGEG Iood T 3. FFES R Tfmg I25E|

Question 135: (3 TS A2

A. TfRmE T

B. ({1 AT



C. 33 (TR 7
D. 33 S AR

Answer: 331 957 AR

Explanation: IRTTCTH {f&Y(@ N0 ITUIES 53415 9 TN NEH TS T4 "FHED T7 FAT
2| 9 5T TS I - - FFCEY 72 FRE (7T: NSO T2 - FFCTS 72w N GIRFIW (T
TS o (RIS O - IS X1]7 (IR 2 SN - SEETD 17w T NS 3 T 78%
T35 IRACTT ST ©XF IO1I+|

Question 136: IRACT FXF T FH 6 F4F FTfF® 27?2

A. 936 $598

B. 59 W6 v99
C.2a 976 5599
D. 9 6 4599

Answer: 9 W6 L5990

Explanation: T IRACTCT S> 0 SETF 9 76 AT STSIT Sexw T {oet e 23| - 92 ffioe
IR ASIT AT ©ooff AN T 2> efb AT (TF 95F AT IS FE | a3
IR

Question 137: TRIF 24 (FF SN IIFo?
A. BTG

B. ATTTTRIG

C. et

D. &I

Answer: 9919

Explanation: IF&ATe (S ST0a (N 58 FHFENRGIE qE IR - (FATARIG O A T30
T 3¢.3> AFF 9] @ 7feF 2w s1fde| I 330 AE FII0 Z40: - INFRS 29 T 6T
(% - FIEe: 2w 3N T2 I (Selg SHITIG |

Question 138: FRIE ef[O© OIC T TCEHTE T FE T FEN?

A. 20-35 (HFIIEF, 4298
B. 293k (HFIMF $»98



C. 3¢ (HZFAME, 298
D. 39-38 (% FI1F, 4298

Answer: 39-38 (FFIME, $98

Explanation: $>98 ST 23 - 38 (HFINT TMNFINAI TR I T 53 (OIC) fFory
SCHAS N[00 I | - 92 TCHAE IR SIARNT ToTTw (03-8) S FE|

Question 139: IFIFE FI “FfeT3 FA” NS TALEH T FAT 27?

A. 30 (T, $59

B. 3 (F, 293

C. 23, SN

D. 39 (&, v399©

Answer: 9 (¥, 599

Explanation: Nf3te Smes s ROIE 5@, C14 Y3 [N g =11fe afzww gfers $f
TIF G FE| - SR A So AERA fBfTa MBI 2@ IPe 7 1 {7 Tom
THAFE S0 M FA6® JF13 FI MNMF AHFH ST AAANS FAT 2T - S>30 NETH 0T (3 TIFTH
farg =TT stfaw SIS 9% SO 97 SIFIET F2MI I FCPT b0 IBRFA 2M© I3 FiA MY swF
O (| Az FTATSTE (FSARNET 3 ASIFAATST SFITRG |

Question 140: 2T “=F wH MAe” ¥ 330 oGS e -

A. TSFCIEF FOTEN
B. (¥4I YFF T el
C. ToF Jul T3

D. fav@ 5271

Answer: I35 F 53791

Explanation: $» b\ NETR ¢-b (FFIE NIFIEF TR N[O RETETRT TCRAE 5795, T
2T WH M9 ST FEF| - 932 TREF b - 55 NTb AN 3TN FHGT ToT wIvs 26
T 9% YOCT A& TP kAT AT AR[SVNFOTT = o] S FA |

Question 141: “FR’TAI? IRAT @S TAIF A [AGT FE?
A. (F-LS TeF

B. L -9 oF
C. b¥->% Tod



D. 99-v ¥ Mo
Answer: 9¥9-v ToP

Explanation: s yd Sae] 954 T8 (b ¢o-9¢o) TRATT (FTET T THFTH fRGETT 1 T2 60|
- S (7T STSTEHTT Fe12- (FTACE foea-[A% AT @O A TL0E @R - (SP-97 S
AMST FABIT B To@FT TR THNEF TNASF ATIE T ANEF A% F0S (A1ferfg srrme)
TRTAT IE SEN FIT 2@ @ - A TIOFS] 3 @I AEI2 T ROTF AfeDTeT (STNET MO
2| - AT ORHTNE SE NS T (F, (ST SIS TS AT (FSSTATH) TN ol | Sya
AEHF FRA@CTT 262 8 frsTeter 8 IRATHGAT|

Question 142: IR (FT TSN AT FAY5T T 7X?

A. STRISTTeT TR TR
B. A&l MMR3w TR

C. fAaTTS e IS M7
D. IS (T R

Answer: SEATS e (R MR

Explanation: I3 I15el ST FE 48>0 ST IR NN ICT - G1I9 (RITH | el T fofer
"SSPl 2O N T TR FEA| - ASTER TR "2 IR " A AF Agel I30TF M7
BF | TS T - (NG| - IRAT I TSI N I 2] AT (58D - Seo'b) & FIEE
(T - FSfa AR (T8 TS RAE AFfe 241

Question 143: BT RARWFET HEOR (F AT ST Ao FEA?

A. T8I AT o
B. STE 513w SIRGM

C. Ao MfEeffee
D. ASTR S W=

Answer: ¥831F ST Sfer[@R

Explanation: F3TT ST WTNR 3 G fRAwierds - Gra1 fraf{miery sfeSTa ey F8T1T Sz
fICTT ST AT FEA| AFA(F GIFT fPIRITT T Sely fof BIF1a FeAT AT fovey iy wrer
FEF| - ITSEE T TP STHSTIGI 3[Afers gy Neweray’ 932 51 3 S AW 7 Ao
SCRTS SO0 27| AN SCHT WG] ST | - FIF FR[HIR Spot W (VF2 6] af{myey sfevw
AT AT ST B1T FfawTal| - S35 ST 3¢ A1 AT 3 39 b SFATH A1 TREES Torew
BIFTY ©TF ANTSI SRS NIEET S AT Fsr-a7 9F AN Aeffoe 2| S 57 27
(, NS YT NAfoF FOT T FOCTH FIFT 3 NS FTF FHeS TS (STuld FA7| 3
AT FI1F STR[ETR JHANT T SFfod Sty A7 R rmey afeda smeaizer g




HET AT Gt SN 1 Rafta 9w R @A - 3552 TEF 35 A 76 6% o1
ST F FOo 77 ST S| 0 T[N TIT FRLFARS (T9CF b ST a6 Iferay Afsferfsy
el FGANGA NET (73 FE AF6 A0 T FEF A3 I 5IF (7T FE IR AN
TROREHF S ©1F 78 FHT FE| 2 ASTAY WeT FIT AT ST (BIYAT 932 A HOw[T 2753
T | (AT (FoTA 716 AMEEH 7 IR FHF A5G I7RS N FAF AET S IR G
236 R F R SIqE FEA| - JIIREAT 3 AT AN YT T AR 972 S
SHfET AtsT, IR (et RIEE ([ Afeawea (¥, B bIF] rfme afed1d 7T SamET 23
AN Sfifod & SfSavasia o1 FEF F1T T AR | - FAFR [HAAAO Y[ aFNa 72- 4
@SN STeHGrb TABFIC GIFR A376 R afed@ o 9311 SR eFe AbEd I
SPNTERT S| - (7R SEPIE S5 AEH X (HFANE 9F PNORNA Sl NI $9F 6] fTaf{mery
SFSOTF SPNT (FF FAT T | - SOIY T (NF 5T IR A7 2@ A=l T35 BT
fPIfTIeTT 8 BT (ST SEPTRG AT IS

Question 144: ST AEHIET TNT TFINET THANGT (F {=EA?

A. (ITEPw St v
B. &< Sife

C. e et A
D. TS IS Stey

Answer: 25 & Slel

Explanation: $>@3 SIS ST SR S - - 5 AT 21 BT S - 5 TREAT SToefel:
TS AT | - MNFINTT TN AT ARSI el - MNFINAF TSAR (SAR: NS (STETH
PREETISEHE IR B IR ]

Question 145: AFG NFfoF S (FINT AFo?

A. FHIEE (ST
B. A5G (ST

C. I (SeT
D. 1TSS (ST

Answer: JTSTOTR] \E, LI

Explanation: SIF[fGeT 831 IRTGCTT ATSTGTRIS (ST I(Fe 9306 NPMeF 321 - ARG (Sena
NS SASTIH FT T2 (A 9 fFERGE 60 SP[E e (WF © S b SHOIIAE Ao 1
AR TR AF(GAT ST JT T 5[S5 A3 | - FATAT A I A©1R TFG I (FFO1F 32
SAEGT ATSTETRAG (Sl FAEE OF 7o | TN 5 |




Question 146: IETT (TF RTIF (So%0-53 9o FABH) CTF AT (F foredar?

A RFE 9
B. 7 (5T
C. T (N
D. @1 &9

Answer: (@49 (o

Explanation: IR (o T *T: - T T oW AT o [FoIT SNt T (o 20T
I o1 2T | - (T ASRTTE T TS FE - (RS (1 (NS (T @) | - (T F19 - oy
| BT THANE (T I 6 [Sred B9 F Afefde | - a3 RO TN SEAFTST TV @ - Tl
(1 308 G FATSTR ATST TIT AT FACT fofey ASETY 1 FE JBINHF [FFIF N
A |

Question 147: IR TLARIT AT AT 12

A. @
B. e1fefd
C. (T

D. %

Answer: TS

Explanation: TSI (T IR (F1 97 JT NS ASW/AG foeT AT| IRAT S ST O A S
TG (16 AP [ el | (@F0- g, @G, 5, ST6s, THar, 2, A6 Tof I - IRTAF Mot
SATISTTR MY I T TR % 3 AEHeT| - AT 18 Ffeifs IRACCT TIEE I I
e | Az IRTOCTT 2O 3 frasere], Fa5- CIfel |

Question 148: aﬂwﬁrwa@@ z3-

A. @S TGS
B. fyamemsia

C. SR
D. @

Answer: S@F
Explanation: - STSITNAGE NS SIIETIE GIBTRA (SellF @A 29 EF 9-do (HFIN ADw

2T FISTAIA FNCAA | - 93 SCHT NS0T FE N3] ST AT AT ST 972 ST SN ooy
RT M2% RS | TN TTe 1T O IO 3 CIOTRT (O NP1 STITRG |




Question 149: J[FIFIE (FFEFTOR b, RECIF @G “TRATWT IR FAF 9 FAT 27?

A. affIT Yo, $95
B. affieT S, 9%
C. affe 83, S99
D. affeT 8y, 2%

Answer: afST 8y, S99

Explanation: $»9s SIEF 3¢ T MF IRAT IEEN6S TNAF T IBAE AP CTa] A wF [[F@E
FEF| @R AETEET A2 (AT NS, TS S, fFITST T2, a5 A% (F9W, (F a7
PG Y A7.9.1F ST T3S F9F FEA| (SRR 034 8% 35 (FHETF o310
GBI CTA (3 I (AT St e ST (FarTeT Ref-ag 31 srem
fFaa%-27 THRTI MREHeES FEfSIR S 57 "MSa Y BiF TH13 3 FefJIfey 27 - TS THF
SAECATI 8 A3 (SFEATGT BT ISMAT TS IRES (@I (AT FHFOIH AFC ST ol

CEGEREIRIRER

Question 150: (FTo Sen I IRACT I GNP REAFA ATFISARTE 732

A. ST 9
B. e 9(
D. Srereaw o(

Answer: [ 9(

Explanation: 91527 - 922 SIFATEE (NI HYTAFE O ST SFIFETAF 383 oot el
fF52 NFF A1 (@, RITUET FITAT, T SN T Ae(5aw, FO1T ST NFeT SAefoaw, TIN-F ST
3 SRR AT ST TSI ST SFeT Sof(oan AR AP STETH S¢o

SR DA (N7 FTIT TP Ao RA LA TS, AT, A&7, FfRoPAT
{3337 S5 (P FF RO AT 22| 92 e[ AR - RITHTT AT 95 Ao A= -
T ST, FEreFae, Tenft STE 4T bR It "qE AT FAN ST SERE T
T35z IRACTT T |

Question 151: IRAGCTT ST T TROTHAT 7 77 Fb fzer?

A. I T[T
B. T AfeST
C. ™ AR SIS
D. ORIy IF 9P

Answer: ORI¥ TP AP H



Explanation: 53> SR 39 36 NI 2@ SO 5218 271 - 93 ROTHAF NI 774 3
0TS STOIT T 6a IO ST SIRHIF NTFTH T T4 S T F97 271 - vy
TR e 98 RFE [FHA YT T AN - OF FITO TREI6 205 ST AT NN
I (TR FAC TPTT RN N SIREIF NIFH 33 I (4@ I (W31 2| 5@
SR HFMTY A7 (TAANS 8 NsIFFST : FIA-T It |

Question 152: :fFHET GoF TR THEF T @5l e (@ oHNEg JIITIRIT FAT
?

A. 9 BT
B. ¢ ©% N
C. VO THMNT
D. 8% BHe

Answer: 8% ©%5d

Explanation: IRAT T (N6 STO6 SH AT T@A®R| ST 2ET: - TNT OBV : A [J-TT
RS P O3 - fASIT OB : APANS A6 (fR7F) - TSI OB : T4Y 3 (M - 5g¥ ©HI5T :
FIGFIAT 3 SFER AT - APT SHI : IHIFA 92 TG T - T SHHA : I, T8 T TOF
(TR - ST SH : YA TIFF SNHP© FHTOIF (FFATTA| - NS THAR (FH©] (R8T
0 2O 5@¥ BHAE Afde Aqrar TR ATHITE @ |

Question 153: (F Sonfeog ararr3a “AfafifE” @aez?

A. 8@
B. 3[R
C. A1y
D. ST

Answer: SIS

Explanation: IRAGCT INIAS 4 -(TOISENT AN STET TESIT | - SET J-(5TST s

M RO AT fute T2@ FE| - ST TIFALRYE, (FA A, CT, SHTIH, SHIRES J
AT TETER APE TN FE@ | - A AN a1 foef fSH/@ | - AT F-TSF A a3 WNfoF
Y I1F S RIS ORI ©F THSEH SAH SR ARl 71 SRfbw | - AW T IHES
A SIS | a5 FRAG@EF SR - SET TNSHIE N@OEF | - ST A & AR TRIEF
TR T (o] R STOTET A5 | SF FON SAEFRT SNET o 4T S| as Ju oo
SR 8 EF : I A 973 IRATT 8 Fraifaw® : srgar |

Question 154: IRAECIT FNfAST STTTN FroNT TH] 37?



A. IDA credit-ag J19T

B. f% IS budgetary support-a3 S
C. SAN@ T remittance-aF N

D. IMF-a9 bailout package-as &5

Answer: IMF-99 bailout package-ag &

Explanation: SI8$11e% 3[4l ST (IMF) STees 161 - TS (TISTETE J1fAeT H16he T FaE 533
3411 - frey MEfe 77 FAR W IMF ©TF T05 (IS I8 ANFNE A J01e FF ANF (Bailout
Package - 93 NEI) | - IRATGS IMF a7 59Ty f25T1F Bailout Package - 93 AR 3 529 $&
S TGRS T F@ NEF | SEL, - TIFNER T remittance IS T6Re F3e N2FOT FE, F&
TR ST Sefto M T

Question 155: FFe® IRAF TIIAT IS FIF I4T T2

A. ICNF
B. (e
C. Gsmar
D. ™

Answer: %

Explanation: &% Te@4 I1EE IRAE T FHT oI T Tod IRARX A6 el T 10
STCG (STE [T (TGATSY AT IS | - 93 FET IS R PR (e faFbae! FoIf| -
ToF FRAT (A ST 7S T (NOAENF Y @1 - ¢98-L0a G =G T (STOIS THa
FEA| A ARTACCTT RO 8 fITSTST : AIF-TT I | (3T F2, AT 90 A6 ey, Jro
| PTG ST AAFSE TS ATF | (SH, IFTH NANHF A FEFO IS AT MEH |

Question 156: 357031 T4 (F (HFI] FEA?

A. TE FIET

B. T 3MST

C. 6 MSH F/HA
D. TS TP &F

Answer: TS TP &F

Explanation: - $»0¢ SR & BT T ST ST JRAT (ANSHE (ST BT ST FAT 2 A1
ToneDT A O | - FE FET 8 Reqma Sl AR T 978 SR ST SR & ST
o5 T4 FA© N T | - B T AGET ST 2SS W FETTHE RTINS TS F% T fufeice
55T A (TR (W | S[as IRAAGAT 97 IRNGCTH 20219 8 fasTerer : F3s-w 1 (14|



Question 157: BIFT R(ES (TGS 23-

A. f&fo= s

B. S[TeIfel ST

C. TR TR [T
D. [ ST

Answer: SHT AT

Explanation: IRTNTCTE FSHTA BIRFT CNEA-TF J05T 5% ST FAETS =AM 2oz Jfifa Te
FE (T 7| - SFIF A CE BIFT AFT6 AT (TS HiG) RE 932 22~ AFIA! I NI
TR A 511 RREIEF C1T 9] SfFfe @@ - Sbso FARE BT A1 6o IR IR
ST ATSHRA (N GIFT IR FEF AT TAGH ANEPIE 97 ARSI FE STROIAATH| -
PIHAFONT SRBIFATH ABSIT IES N AT & GIFT ARBR (WF 7| 735 {1 7465
AT RO @ FHFSTHS B [FIRer 93 i3+ oreT TfE T929 FEF | - bR o 3
TITSY SR 7o (AET Y12 BF 2J| TNs BT (ST SHINRG 8 FHF IRAWCTT R0z 3
frrTerer 32|

Question 158: 68 (5 8 BTG AR Y TGN (@9 IR 261667 (YouTube) SfedT FEA?

A. T i
B. T A
C. STSAT i
D. S Ff

Answer: @9 FHN

Explanation: - 33557 f6f68 CTHE F219 o 956 S@INRG | - a6 L8 (FFIEL, 00¢ NI e
AR | - SAMHEFT 2-J1AST 3 (TN fox1 e T - 560 (6, BITS TAfer 93 SHEw FN
3THORA AfedTel| SEW FEN IRAWTA NGO | - 97 T0d I FHNAIE T FEN© A3 |
STz ARG fHE1feaT 8 268 SRS TG

Question 159: MFIE FE@ IRAWIE 236 TH©W AF RIE pho @32

A. (FFTMF 20, 5398
B. (BN Y, 4298
C. (T 20, v298
D. (BSFIM 2}, 4298

Answer: (HFIIEF 23, 98



Explanation: 3[&J% (T 23I1F 5 (A S8 N 5AF AWF (77 IRACTIE T (7T Bod Fighe
fowers MFI 8 B1F I T fila (77 w3aa Tl Mftaet 911 JITCME, - 998 W (WIS
AT SR RTINS HCHAE AHET IR I S (ST AT (MSTTF T gl FoT LT
FAMT| - IR TPl T 2NN TN ANFT TAS TFINAT S FIAS THANAT AT
S QEIF ST SPIERT (TISTE 517 T FEM AN - 3598 NETH 33 (FFINE MFIA IRAWNE S
(| - IS FPFOT T 5598 W 20 (P TMe NS I (T e To7a), I e
FEA| - I ¢ (V@ > T FAMfEA® IR, SIS 3 MFIAF M FATFT Ao Ty
SEIRICCT 7% TS TIPIFAC 6 A3 A FIT §fe TR 21 - 8% §fea e so¢ e
@A NFI @ AT 998 TETH 3} (HFIME NI "IN 0FF 3 2F IRANTE
Figfo i) S5t @z Fam 8 IR

Question 160: IR SO FHWT JYT F3HG (ol (F?

A. FHT A TS AT
B. (TRFESHR

C. OISG e IAZAY
D. TR, CT [SJF T2

Answer: 599 CT¥ ST T2

Explanation: IReT SIS IT ST TN .4 (o] Sfed Tad 5175 T4 {HIF I | - 9 M6,
$D90 NI TN ST NeH A6 FRACTT SMSIBA AT 3> 6 ST S o 2 fovagT
SRATSIS 7S FE| TS TSI T SFINRG|

Question 161: FEAIERT FBETTIA (1 (77 fofad NFefes 551?

A. SR

B. Mf¥ I8

C. TFAS

D. SIfe

Answer: ST

Explanation: - 5w STETE (37 AT Af6f® 27 FTTMERT FHEGITE A6 Gaiho (@S Sadfod
AT - SdDE S (N TR RganH g s1aen s (W) o3r1 3@ aIme| - afbd sug waa
S A SafFe | - 97 afsdrer FEE 2ee| Ja: T STIRG|

Question 162: TNEF ST "'WMD' 31 $1?

A. Weapons for Massive Destruction



B. Worldwide Mass Destruction
C. Weapons of Missile Defence
D. Weapons of Mass Destruction

Answer: Weapons of Mass Destruction

Explanation: WMD - a3 <& = Weapons of Mass Destruction. - I 91 3% - sTeifqeqST o3| -
2009 ST WMD ST A3 ST 3071164 (S5 I SNH3T B |

Question 163: 030 T FFITS “SIREF " S6F AT TEAFII (WO A1 F12

A. SBieE

B. 9931

C. oI

D. (T

Answer: (GaTF

Explanation: JFATE(6[6F A@feF 5173 World Justice Project "STRE& e 63" (Rule of Law
Index) SIFTT FE@ | - Y00 NET FFIe F63 FNIE AT ¢fS (w7 (536 (= 1) - - =24 - (T
(CFTF - 0.90) - [T - FAST ((TTF - 0.¥>) - BOIF - BTN ((FTTF - 0.%9) - 5Q¥ - SROH ((F1F -
0.%b) - TP - (ANITISH ((FF - 0.%8) TN 8f6 (712 S B-BOF -~ (SEIGFN ((FIF - 0.39) SI93-BF --
FEINGAT ((FTF - 0.190) SIL-B - STTONFF FGI TS0 ((FF - 0.98) SIC-TH -- fiFTF (0.0 V) -
TRATCTT AT - S5¢-0F | - Wi IFAR (PISTNE M BY TFI 3 AZHsNAGIT IRATCI (T
TA®|

Question 164: SfeNET (@1 5737 T 7 Ffa@s sfo@mwa g7 F@?

A. WTO

B. MIGA

C. World Bank
D. UNCTAD

Answer: UNCTAD
Explanation: SIfosT Afdsy 8 a3 Seqaa (UNCTAD) RS (@ fAenbSen I3 & IS8T
3eTs « The Trade and Development Report, * The Trade and Environment Review, * The World

Investment Report, * The Least Developed Countries Report, * The Technology and Innovation
Report, * Digital Economy Report 2@51f|

Question 165: ARFESF SAMEAS RRTTNER FGS (FZH SIS TSR NHAT FE (F (2



A. JIRSEIT
B. SIS
C. IR
D. snfaan

Answer: ST

Explanation: - (1257 2[5 A6 ST (7 SITFAT 2055 ST 52 O (X0 70 o Ed
AFHNGP FIIET SIS (SN AT T FE | - 6 TSTET I FT 957317 AF(6 |
T332 ARSI SHITRE 3 TN A NP2 |

Question 166: (@19 AR T[T IRTE ATrex ARSEF FH W] G@Z®=?

A. FITT
B. TRREET

C. o=
D. &y ferge

Answer: @31 fome

Explanation: - ST {8 2003 ST IRAT SRS (TSI STARSES NI ST 7] (77|
RN MRTH IO SEFIE CaMEdT F13e IR SRS @A 73 93 o0 e | - =
ferzr 136 SNfEara a3f6 (11 AT Fe@a TriFafas an - Si@an ffed aore | aoamt - oo
- (7B T S SSETST A FE, INEF OEHFE ITQ® A BAT 8 Afedifs| - 2@ S
=T fera TR ST ©TRIGT AT IS FF 0f6 O Fofre | Tz [T e S Re 3
IEQIRERI

Question 167: SfeT:T TNFIT F(EA-

A. W ST
B. Soiferel
C. it
D. 9o

Answer: FI(ob

Explanation: STf&:T (F¥e (Declaration of The United Nations): - 83 SIEH S eI
TEAIET STIMREE 9F NI Aefoe 2| - 9w THed [ Jaae 2fb (e (ForET At
T (@ | IFANEA (AT HHfr . Fowees, [&eT ayesra T2 sifee, cnfe@e afsfafa
I fibfoae ¢ Sima gamaeral f6./S ) O1a Ny SENRT| - O AF (26 TFET6 TH FE J1
Declaration of The United Nations FTGT f&f6w | A(® =@ NEHATE SF0 b (M0TF T/ IS el fEar




TSHT FEA| - 92 TCHAE2 T R 1 FANINEF Jol “SS:T (United Nations)” - 92 A=fe
TIRNT FA 2T AR FEF (G, FoS 92 ANFIT FEA| B3Nz ToRET SFITRG |

Question 168: (T e (T T[S (G MG T2

A. CTifw argg
B. N1
C. &3
D. 9a%

Answer: 9F%

Explanation: $»8> ST 8 affe {6 (WeT@ ST @ North Atlantic Treaty Organizations (NATO)
TR (B S5e 2| - TEIT IS Tusfs T3 @of | TLCT w5y Tad (FGINET (39 Fb 20%0)1 -
MIGT THIHIT T AATO | - QFF 3 AT TIGIGS AR (| Sz FIGT SHIRG |

Question 169: 7 FAGANHF 6 A ARG (FF T2 Af6Pwo 37?

A. 528¢ ST
B. 59> ST
C. 5287 HIT
D. 598> HIT

Answer: Y8 NI

Explanation: >8> STeF 8 afseT vfb (WCTE STE@ North Atlantic Treaty Organizations (NATO)
TR (B Sf5® 2| - AGIT TS T0ss H22 @ ofl | TLCT Wy Taa (AGINAT (39 J6 20%0)1 -
ARSRTFTA STty - 53T 1 - BT NTE7RF - (FARTITA ACTN AIFS | - AF 3 SEAR AT WNEIG S
3[SIe3 (A1 STas ATGT SFIATIRG |

Question 170: AT TIF A1 I (F2?
A. STTFSEG T

B. fo 91 (xOfa6

C. (81 (feT

D. SN AT

Answer: SN 1@

Explanation: 3% JS(F S IT/ZTHF 91 - Federal Republic of Germany/
Bundesrepublik Deutschland FTSTAT - e @ 91 - RSET AZIT ST - S NG A - N7



(x 7% f3f38); S5 - Bundesrat T Federal Council 8 fa%$% - Bundestag 37 Federal Assembly
SR 20 AT SIS - TNEA MA@ | fSoT 200¢ HET ZATAF ST 16w 21 TOTE fofer
5% AW WIE Mo Fa0A | Ja: 3T a6 8 Ao

Question 171: A6 ToF IAWTe @R sazey [T37F FT@LSIF AT T FITIEE 3306
fA9E T3 TRET FYAT IER?

A. oft
B. xf%
C. ¢fo
D. 86

Answer: 8fG

Explanation: (1257 25]j(e NGHeF TIIIETF SIS (SR SIFRIE FAT A (Ao 0
ST Y030 AR A& STA7T S@FS! ot TaT] SfF FE | - 93 AT FrATTNE 203 WETH 0
STRET F(E OF IS (7T F| BTATG ol TalT 7T . FRRE IS S0E =F A1 (AR5 JSferay
300 TA®@| B JIHT (EIF I PN FIFHE@ FAFA B3 oo 2 @1 3. FRenE@=
ARIRAF A (B HF00 @ | AT IER, (FARIMRAL [F2IT I (F (@ SR farerar IifRat
S STrRSTT AT ST BT SFHIeA 1 (7 (o7 T HFEF T3] T2 FAW® J | 0. (FR5 STz
RIS (IF SAMSETT ATIR, (7 TS ©NT-E3TT FHe FA© S| 8. (FMRIOH SJFH] (1T Gl
RrRTTR F 4R70EF B3 @R (T RFE Afs@ue sl SIReIE M& NFefes e srrees
FI ST fare 2F1 AT =S =INCT 936 T Aforane S fare 2F1 9579 Ffe@we sIRRIE FI= 9T
HAT @ | A SRAIE S@INRG A7 T 9T fHenb|

Question 172: (F1H b (MCTH T TG @ AoEa Tl 2055 A (@& NS TFTH (571 77?2

A. I 272 sy

B. (7 93 (S
() GRENGIGRIGH

D. 3f¥sfar a3: a7
Answer: 33537 933 3fafaT

Explanation: - Y055 STETE <MfI0® (A& TAH1H 7S FE ANSFAT SFaramat snfy e s, -
(AE FHIHT SA™®, "N 8 ABHNoF TR ASEF S BiF AGEBIF 5y, AT oS JfeE@
TR S e RS [TaNE o1 NaEes SIHNEE Sy S, - 2030 W &7 4705 F3576!
(WFP) 'SHT[& 37 STt 432 MHTe Faere AR e SEI ST T M @& Ja5=
NS FEN| BSs (AT TTHH SHINRG|

Question 173: 33T Foto] (FTH AXE [ISHS (2eT?



A. 2T@ET
B. W%
C. NS
D. wiSpel SHAEST

Answer: G5 SEIEHT

Explanation: 31 TeTe] &7 6@ Tiahe SIGIHS1E AP ToiFel IR aNfrar ey AP (T
ST FIHT ST SO T AN (TG (@ CHIer T JIE1 S7 2| - ARG 3T Nojols a376
fore e | - ARG 2T (T2pte SIaf%e A6 TS MYE 28 I LD (¥ AT 9,900 Hb KO
F3AFG | - 93 7230 2T T [AS | (TG M@ CHT T AT 3T NS RN 23 JRfR
SIS NS (@ TN - S5 FET M Teles RA [Fezm ARy sifkg= @1 - aft JRT=
236 FITEY 9T FTCEET (TS A g Doy ol sa: Rebifa Tow a3 Foifes

Question 174: f6d (@1 (oo AP TA{HF HIoT ST fmmrer?

A. fFoar

B. ey

C. SoE@FIT
D. fe@ea

Answer: To@od N

Explanation: I3 fA9d fAfew weT PR 2068 @ e 516 F@m| o067 SElke
TN N - - BY SO THEP FMoa ST fIwse F@®@I Cam Ranh Air Force Base 3
Cam Ranh Naval Base - $9» S (& 003 T 747 FIFET (NEF CNfe@e 36f43e) fFafesa
TIF FE ANRE| TSI 059 HETF CTIF @ (WAMRAN 3 2058 W7 (A NI e
(R 6 TTIE BF FE| - SHEFIN (NS SFHTFTT T 200G FIT (AT 3053 TIT 734G
Karshi-Khanabad Air Base (& 11 e 1217 16 2@ 5928 @1 2053 ST SHEFIH
TAFF (TIbte A 50 JFT YT @0AF NS SHf36 g (ban) FE| - fFEIE 2003 N 5
Lourdes SIGINT station SRR SE=F Hif6 RN - GRS [FEHE (@ SN H16 (@3
ST (7T SIS S FATE SIS Fio fild (e T@® 5o MeFd, 030 - 1 S IO
sferEwa 8 RIfeBifa srsnfde|

Question 175: amS (FH 0T SANET f&=eT?

A. I
B. (T
C. BMT

D. SR



Answer: 5305w

Explanation: TE 2 (W A1 A6 HaeS afes e w3f5e aFH (W1 - (x@fifE -
TG ST 8 326 M2 | - (W16 T TANFE o a3 77 8 AP ISECF TS tofd FE = |
- eI R =ifeet SN aS!T (7T - SR 3 47 TA@IST (W - AR - Swod ST 37 51 Aeffuey
TS SRR Ao AN el | 93 THIGNS JRGH R oIS Ol ST R F537"
FAI| - ABTT TOTII0S FHaATISH THE (F°4 FE A S SJRCEH FFI Ia 2| - Hergae
St NI ey 956 TATTITE TP 1T AW A TGS 2| - b5 TNETH fEOEa &
SN oIS IR FT1= (V@ o TETST (qHT FE | T332 Fo1fFT 3 Revid Soaa| S7e
SAETHAT (T 95T TSN 2F (J, S IFF 73 TR SROGER SANET e

Question 176: aFRTE N1 TR (FF TAF FE® (@ T2

A. F&IFe1F et

B. IS T

C. @fa: sonat

D. I a7 NS Felr

Answer: T a5 N9 et

Explanation: /9 97 T F4T (Bab el-Mandeb Strait): - 19 A7 M (Aifze sE e 936
ST | SIS - - TF FE -- AR RIS - ANfHFT ([F3fS 8 2fFfazn) - Ie F@ -- At 517 8
GIECRIRCIRCS HIE D BEA R e

Question 177: 35 ©E®a IR FaFTOT (A ME© TIBEHS Y PO H(T?

A, SDSE T
B. %9 NI
C. S258 NI
D. S5 AT

Answer: 525 N

Explanation: 5555 STTCTR b3 fE0Tae ffEite STej[de fHGE= A1ST 523 S SIS Seyoie o S
f&foT STated ATHTA! FeTel (Y MfEHE FITBET FFAT (We| - A9ES S W fAfeite TTFET
PR v fovs1ef T 77 AR ffaE AT RROTE ST (STTTE F18 STo01E 27 S0 | - STF ST
Q FAFT12 e AGwa Frowat| ya: Irenff&am a3 {FT Fram)

Question 178: ABHEF JuT ST (FT W 58 27?2

A. 5988 NI



B. 598 ST
C. 538 ST
D. 98¢ ST

Answer: S»8¢ NI

Explanation: SI@$1f6% 3yuT1 ©2fJe (IMF) - IMF a7 5« International Monetary Fund 3T
ASOF [T O | - (Fod SO NCHNE [TIHREE AP ANEHG TSV TG (STeTT 27 ITF AT
IMF | - IMF - a5 If3& o155 R - Sesfed A 5937 (International Monetary System) %G
A THS FrF FAT A3 (51X STCT 34T APy 217 AT 932 PSS (FTAwey W2 A F A
SRF] FAT| 9F TOF IMF: + SO - SO TGS -- 8 FAR, 88 T (AT F747,
sfd@/Formed (@) - AFDIAF ATSOVEE FHFF -- 29 FOTHA, $28¢ T - FHFH BF -- TT6, 489 *
ASHF T -- 7S JPTITR, ST  ASHIFTA SICHT - Bretton Woods Conference * 5wy
TRATT -- S>ofb (T (LT - ITSTAT; S b ATBTs, 20%0) * ASHFAF ST -- 80fG (7T » Twamde --
SR 5. T, Teag T332 IMF SITRG 8 JHA@d oY o161 SR |

Question 179: SSRET (F1 T30 FEE SRANE 'pandemic’ (FTFT FER?

A. ECOSOC
B. FAO
C.HRC

D. WHO

Answer: WHO

Explanation: - @5 fS0TEF 2055 T 2@3 JI0E ST *12F FEN SRAE RFEN &3 The
AP TN (75 TFH T IR0 FE | - 0o SN T IFF [ FETT B0 (907 IFF Sl
I ST FE| - 5 (BFINF 030 T IFF 12737 92 (@EF THFFT FEF COVID-19] - f77 Ir°% 5731
S 6 COVID-19 (F S (Pandemic) ROTE o F@ | - IRATGCT T FEE @ TS 27 b
G 972 S @ AT IF Sy Ao | Az &g Iry 52037 SWINRE 3 (B2 B [Feh |

Question 180: JFAET AFAN VITEE (ST P TETH NATTIET S5 A SN TGO (GIeNSTG
ST TSP

A. }¢oo

B. Yoo

C. Sdto

D. 55

Answer: Y93%

Explanation: - To become the Democratic Party’s nominee, a candidate needs to win 1,991 of



the party’s delegates. Source: Washington Post

Question 181: M (FF HA@F fFeT?

A. v ety

B. Sy ey
C. seferd e
D. e e

Answer: F&fFe XeT

Explanation: SI¥ 8 S Fe Teyfa® 517, ©1T 8 AMAE (F7 1Hafee 1@ (T Tga 7 47a
FE OIE FARIS Pl 671 FRES Fefd THRA: - I FIBHO @ TRH1RG - R F6fHe
T AE - (FTNE FABIAO 2@ (FIIHOR - TAR6 FNRES TF [ | AN, - BRI 3 AR
: DLy ST 16T - FAY : STeferas ey | Spa: SUTeT 8 SR : -7 Cfel - 5BT: Co-s

Question 182: F THeF (N (FAG?

Answer: f&S3msT

Explanation: @ TGS (¥F %6, AFhe, T8 205 @PEIF S5 F AEFONE2 ©FT FAT 27| 77
ST T (7T 3 |

Question 183: Y05¢ N RN §fed S sTifde 3757 2@

A. e (% 21

B. au sIfea=el 3=
C. ST Ja 3N

D. ST SffHade 21

Answer: STy 394 I

Explanation: x05¢ SIS 53 fETTHE HIER HfE Sejfd® 35-85 UNFCCC Conference of Parties
(CoP-21) SR =SIRST S §f& 571® 2T 1 - 910 (N6 S»Gf6 (7T 3 S8 I (7T - 305G FETH 23
AFFT SIS Tuawg @ Afb IFHET T S F1 7T 9% 8 N 92 §fe TP 27| - T

ST §f&e A To@ (@S orTeiar Ifa b.¢-3 ffsr o= 4 (preferably 1.5 degree) AT




%7 59 F71 @RI [a: UNFCCC 8TITREG

Question 184: “Ioiay ST (I SAFe?

A. (THAT (IRAT
B. (CFA Wizl
C. 79T AR AT SRETTEA

D. TR e
Answer: aRI@H QiR

Explanation: x05¢ ST 53 fE0THE HIER A Seffd® 15-85 UNFCCC Conference of Parties
(CoP-21) SRl =TyIfasT Seiay §f& 71® 2| - 918 (NG S GG (7 8 531 91T (1 - 3050 IETH 33
AfFeT SIS Taawd & Aft IAFHET T S F1 7T 9% 8 NOFH 92 §fe P 7| - T

ST §fee A To@ (@S orTeiar Ifa b.¢-3 ffsr o= 4 (preferably 1.5 degree) AT
357 %1 $1 7@®| @2 UNFCCC S@INRE

Question 185: (T W -SNHT (F1NT AfFe?

A. THTF TS

B. BEFAIE *Nae
C. 187 I¥( T

D. IETHIIE

Answer: JOITHISTE

Explanation: (35 %Y« o F9fG T8 T IENTTEET (IS 3T (] NS | CATG 3T (] SNET
(Swatch of No Ground): (IAT6 91 (1 TS AW ANPhod SRS SIFIMRP] T 5T, 1
JEIFISTER NIACTAAE (FAFSNT Ao FE®| - 6 STo7-F57a IR APCE TS| 5757 AW
1e18 afb AREe | - CTRTE 97 (1 TSR 77 ¢ (V@ 9 [FENCIE, ST G pae THo a3
=T (WTT 2T 53 FOIE (R | RS (AT AT STSIe] o1 8,300 BHBE| - T o7
TIEF S5TF SR (7T (SR (F, CTATE 9N (@7 MET FFEHTf (TG (S AT (5T H (el |
5 557 Y TIE AFRA T STo7-F57[@ T3 $go | - (TG A% (AT TS5 IETHIES 58
fFENTIEIE 7773 ST W[ ST A2 ST TR0 (FFG FAT JFAD T vwio 3| -

SR SHSTPI6 (I57T W1 AT 957 TITE 90, fI0IF IR0 NS 1271 T3 IReAAGAT|

Question 186: UDMC-97 Tof&*1 X(T:

A. United Disaster Management Centre
B. None of the above
C. Union Disaster Management Centre



D. Union Disaster Management Committee
Answer: Union Disaster Management Committee

Explanation: IREACTE qE1sT 25041 S FE @S RA@ ==1: - NDMC = National Disaster
Management Council. - NDMAC = National Disaster Management Advisory Committee - DDMC
= District Disaster Management Committee - UZDMC = Upazila Disaster Management
Committee. - UDMC = Union Disaster Management Committee

Question 187: A% 1T JfBTe APTTRE (T FTEAF (FNF TR (T X ©IF -

A. SR
B. IIRCIT
C. SRR ENR
D. SIRCRRG

Answer: JRMERRG

Explanation: S-®F W5 JBMeIE JAPTIE TAIBE (I FEP (FATH TR (FTE] 27 (13
(RATE SHTHl JT ARCIRRG (Isohyets) (FT IET| A=TGT, - HREIRT : o1 AT FTo@a (@1
(RAT - SRCTRTA : 6T IR ATRA (TR (FAT - SNRCNETRA : SR NAAIANGS] NowFey
AR SRETSFRT (T4 @2 TE T Mo Grne-FafF 93 MISEET TIN5 |

Question 188: IRATCTT NIGF A6 IO (FA6?

A. AT
B. (TEFs1
C. TRIGTA|
D. Y33«

Answer: 334

Explanation: I T8I SV RS S 5 T TG o 8 A1BHT| - 93 Sefoie] Srgsfo ot
TRFIATS | - HRFIFSTG ARFAICTH AP0 AN A6 ARSI | - ST 93 FTA IO T3 AT
ST AEIS ATHC© | - 9F TAT FRFAATG IR O foeef | T2 IRNFITEAT 3 Mo
IRAECTT oz 8 faTerer 33|

Question 189: fAGF (FEMH oy 73?

A. 36 TIEAET aF6 0t
B. S5 ©3I1T IRATOCT I F3e



C. A7 TP SIHe AFEARCT JIfFe
D. (s gl SrE© AFe

Answer: (3! FFGH SIA© A58

Explanation: (STt &g (Gobi Desert) 347 aff¥ S1af%e a36 e savgfo| - TFgiod
S FBAT 3 Bl - @mﬁ@ﬂ WWS@WHWWWI T
fEBIAT SoF | ARTTT, - 2FTIS! NS AF(6 A - ¥F NP G SO APCHRCT AIFS - A
YT IRACT TS SHE 793 SASSE NOF |

Question 190: WfEFer (ST THOF AT (FA6?

A T
B. (%=
C. feoma

DAICRIIES
Answer: ST

Explanation: w3« (STl (Southern Hemisphere) - (& SICE T NROCTE (WISTN A5G | - A7T013
iRl ST, EERAT, 1 Jefs (71 7 55 o1%eet 93 kT 5o | - 33 Fomraa wfdper smemef
e i 8 Jues A6 f[TATS F@| - 35 I TiEFd (S FIEE @6 fe 8 FaEE IS q6 | - Wi
(ST TS TS - SN 932 Froeres N SETR| T3 SIG B 3 AT ToF|

Question 191: “FAMET N (F@ SHIEF Fay SPIHA ANINF |7 (F 92 Tf G FEA?

A. a35. 8, Cha
B. & oy

C. a%, Sf3s, TG
D. fCTeT SIS

Answer: T SRS

Explanation: &1 A3 9516 ST L1741 2 SPTNA | SRS, A8Afed 3 TA(Afod SaI@T
TS JER ST | ST SIS0 AT ST X2 - FF F741 (Mac Corney) TG JE, SN
3@ ANEA S ST STANSE, FIFNEF S A A3 M@ T MO T AR | -

A f@TST (Martin Minogue) SIS S JETel, “J513 S ST 2% FOSE] STHIER WAfE 433
936 TRIF (I J1 AIPAG AEPO TTOIHF, TR 3 FAAMRORFTS FAS ST WS Ao
OO FRAFT FE (ONT|” - RCTT FIHCCTI T, “TNET TS (510 SIS Sy LT N5 |”
- TS 37T (Landell Mill) @ &, STTSa 436 Sifed aeiod 53780 s 0 e 3@ 932 o
P A3% SR FIITCNE M Af6 FSNT F16 FE@ ©F ST | TN SEAHF (TFAS 3 SPITA 15

T2 ()|




Question 192: 'Political Ideals' @3 ((¥F (F7?

A. (IS e
B. afa66a
C. (8T

D. AY

Answer: (37

Explanation: f3* Ter&g Iraves (a7 &6 wrffas - B 67| 919 Ih® SEAEISTT 5% I - -
The Elements of Ethics, - Human Society in Ethics and Politics, - Moral and others, - Power: A
New Social Analysis, - Political Ideals, - Introduction to Mathematical Philosophy etc. S

IEIEEARIER

Question 193: STII&TeRT AW YRT%’WW@E{@(‘% LR RGICEIRERER RITRCIGUISS)
TA®R?

A. =1 S
B. e 3¢
C. Ie[(=" X0
D. I My

Answer: R4 b

Explanation: IRANTCTE SIIEMEH fFSIT 15T So[ea - Sb: Saary 8 @AfoFel () Sasnerd 72
IF-SATF 3 FAFCHT SHIGTEAE TN ANON TR FSIT IAT 1oy FIAE@S AT [ACHS: AN
T fFAT AREFT T AT AN TEET Trole TW 8 AT WS MAT 932 IrHfasa
(SXEH TR [ANGFACR 57 A1 FFT T3 T2 FEEA| (}) TAFIINS S ST V@& &vavy
AL FAFT T 7 FAQA| TT: IRATWCIE T I |

Question 194: ITETET 3wyl ALY (-

A. fRfemer

B. sfEagatereT
C. ICI%Fer

DK GERERIGIE

Answer: SIET SISER

Explanation: 318 @EReT: - FSE AEF, - (TTA 8 (TR, - (hod AT, - fFfemel, -



@Eftarmel 8 ATl - AfFadaTrTel 8 Wfewel Jerfv| JTENEH fofs 31 Tm=: - Afe 3
BfteTANY, - NNEF TRFEF, - U@, - TEATTe], - SRS, - ACEF FA, - ARG THT 2051
T35z SHEANENF (TS 3 SPIA SH-7a (JE6 33

Question 195: (8T “SH3” Fet® JfHI®A-

A. 55T, ST, [ 8 |
B. IS, (ST 3 foimaer

C. 5[, ST 3 (|

D. 531, TR, AT FT 8 T

Answer: T&3], TI_RA, 3T TG 8 AT |

Explanation: (ST: (STOTSTAT I 8 g =@ AHf6 SRATT IR SN, (T 93T (Virtue) F1
TS - - THGT T B (FRN) | - AT, T (AMAAIFT) AT TR - NP2 WA | A3, T78eT
T - S (3T), WANS, ST (SArAATF) 8 =T A |

Question 196: Y 96 23~

A. SITeF 56T T
B. PTH@R JTEIE
C. &0(F T

D. Frra e

Answer: PS5 J7&Ty

Explanation: SeTSETE X M@ SI6FT ATCFENIT MAus 3 Ao | - Frgra 37 STy 2T &
G | RIS 3T FIHTH AEER FEETY 5[0 27| - T[S P& e @ SE@a o
ST 1 27| - A g S 83 2 AR | AR (AR FEE FEprE o 231 -
TR IR T4 MNfSH1F S35 2@ Ry (Frasy afsdma) | T3z THNEHF (TFANS 3 ST
GEY

Question 197: (F1 JET 1T, TTFH 3 (NS} F6F TFe?
A. STRIFSF e

B. 2fe16F e

C. SITeIfIF JT5T

D. e T

Answer: (&dfo® N



Explanation: sre1f#® JeiE1E: - 9376 sTref=s T1@ (T fCare1TeT, T35 STy 8 W5 A
STTOIHF ACIH-TTIZE 3 (Tf-ad AP 3 3 HFEITe FE O TTel=d JHEE IE| - 9306
STTOI=P AN ASIHIH A FOPS 3 NASAE A7 SN0 2| - TIel=d TG TG ASNEIE
(7T 3 STfed 376F T Fu FETR, (NPT 8 7y T=F T e 271 - sTere1fad INEF M@
TR -7 AF TAEF MO T0TS 2| TrelaF JhEH qF, NaFH 3 (D} 93 q5o|
SU@: (TANNS 8 SPI (AFTI-J (If9Y), (3T: (TSEHT 23|

Question 198: (F ‘FOET @OFOI'T YTV TToF FEN?

A. TET SIS
B. AG8ITE 3T B3I

C. o BT e
D. YT 16

Answer: 3T 36

Explanation: F$IR[AT @fSFer N 'FO@F @GFOIF T (F (FIET FCE B J1 AfHfeq Tue 67
YA SFX (W7 | NI FIHE FOINA (dfeFeld 5363 F41 27| Deontological ethics, in
philosophy, ethical theory that place special emphasis on the relationship between duty and the
morality of human actions. In deontological ethics, an action is considered morally good
because of some characteristic of the action itself, not because the product of the action is
good. Deontological ethics holds that at least some acts are morally obligatory regardless of
their consequences for human welfare. Descriptive of such ethics are such expressions as “Duty
for duty’s sake,” “Virtue is its own reward,” and “Let justice be done though the heavens fall.”
The first great philosopher to define deontological principles was Immanuel Kant, the
18th-century German founder of critical philosophy. Source: Encyclopedia Britannica.

Question 199: Y191 ATNeN Jo®Rid I@]-

A, SPTSE
B. 9%

C. afeser
D. ST3S

Answer: SJ%

Explanation: sT&veT (Civilization) ST S TETe] T TG SITFNHT| 9 TOT WFRSIF 3% (T
AF NI ATV | ST T, ST JT ©F FEN W2 932 AT I IR I ©f JE Nove]| (&
AT (S IE, “STovel (% RI6F SFe 477 (Toa- (Fa17 Na1F, e 8 g O3,
Tfo-TfoFem Te F5 I FSTEF N TIFS 93 F26F S IF A& Mg 17 T6 07, “STever
3% 936 THed S5 [T I RFoq Y ACAHFOIT ATCNF QT F1 27| IGIENT I, “Seve]
T FOPSE MR MAIEMSHE Sfed Trpfes @HEEPRRE 513’ | W7 NfeT@ Fo01 37, Fore! 2@




T SITALT] O RFfoF T H7| Seyel T(FHR, IF51 TFo 3 TEfHF oo yEa
ST (TR | ToTel R MFhox AYFoq AI7q 3 &ioe 37 1 [Ffex e s31ze 271 s
SRTGCIT TN T3, 6NN, S [T | TR, 1S Torold dfewia| TNEe e $EE
BRSO ER R IERIEIRRIRIET

Question 200: “SPTIS B1AS I@F 3577 SN | - 9% AfGN© (FT TF] TFTT FE?

A. SIfomRy

B. SfokE ST« F35]6
C. affr 31 SF3d T[RF

D. fgams

Answer: [ITRF

Explanation: SPTRa" S@%3f6 (AT TFafed RASH | SPINES RE 29 2 ‘Good
Governance’ | ST “S8SIE JTO 2T N F=1(@ “58 T NF0© | Governance ¥ 4516
FAIaP 1T I e T, (Fa 97 (FHT96 (I I FH 3@®| - Government 97 Mo
Governance *b AT “kubernao” 1@ TIfGa % (A, IF o AHCIAA FAT1 - NEFTS
Governance 1N 35 936 T&fow@ (TR, (TN 956 AfTFEe A0 MEE (@F 1 5277,
STTSY A1 AT ACEAIR (H@ Nare 0797 8 TS [1@er 337 2@ 3@ | I {07 930 Sfzz a1aer ze7
SPIS | ST, FTeoP 3 TaoF ST TS 20 LT | - Sd¥d T IR 95
SFSEw AN TR Fe536 TIZF FAT 2| - 2000 N FATRF SPINEF 51F6 IT (7 FE| 4
S 3T 29— (i) WRTAeTeT (i) T=OT (jii) M2 FIOTEN 3 (iv) FATZA| T3 SHARIRIF (TS 3
ERISEEE]



